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Question: The difference between the definite and the indefinite integral is that,
Answer: definite integral has limits

Question: Using one of the rules of integration, an evaluation of <img src="data:image/
png;base64,
iVBORWOKGgoAAAANSUhEUgAAAHUAAAABCAIAAADXMWIPAAAGLUIEQVR4NO2b
3UBaWR|jG+x+dG9KtiYnplphYOxpDVrPdjW3gaaYpgKVHho46QoGpOAULCIFZYEspfm
4pYaV+wBZTsTUOK8a2V)YOk5CIMAVIBXM1I3sxWN2sRbs6TBknea714eP9nfc857zv&
cAxHKOIPJ2T/
BfIWwpfhW81S+Gr8K1mVZ7vbnx+Cjl85vmt91IHLz++xUkXqdKMDQ9EsU7UGspdHH8
+KaC9RDV[7320AhApKKXsILHLye+xSAOAKCrab2YzSTME1P+P3clj19GfPRZN2AE7v4
6W5A+bBnyzUbdgrPhCdLWnRWhAETXpvOSxyxLvqg/
v30UAWSIi1ouQxy5HVItNWIAACGWcrGF5h22Wn1NaJH3oMFwzZmYILAfex4ZiOjACJIg
mFqgsYGypEAOWOpDgmfVQIOTNgbey5SuYb40zWcenNLRP7pVE3aFhmBbH 71E2m58t0w
6RGASB3cqXyEDFcMj5mA1u5M8wzHpxd97VhbfHZOxwUhfsOCNd4ZHtqudbz7aDhGA
RNdixTe3v17aJ/w3cUPDyB9rBZ4pJLt63N4cv+i3Aow2uGwAQGBIVAe9NT|m/
1ROARMAQ+t/eXRG+sXEVRADahrbKj8zP+ocbtL11ut7zty2dke2jzZWQ1rHVMHCL38/
jBYYVKIwapTM9SBfbVDpvlih7b8TaDIcDFk9laJfiGIBY AEdBARPI LgmLMT6mMgCY +zWY
5PROZrIIFF2RN8bzEWGmM4xTocLPMNtmgOIQNpesolVmQbVulYZrpjZ+btMGy8Vok94Z
g8A35zdiABE4EEKXWbY9rPvMQTOWWhhHWEQgZhilig #d5V98/
O9F7+99gQjCV8txG96H[jdB4sZvOSY Xbe95FP78rAecOIBW82cM5CvhG9dgCEBO0Z0qt
80EDI9GHYqVXhlw70ILKKfshOUOQV6E0T7QTZYXPR5MkVmdfLybUvzwGCb0Vhn9d594
OhbLJObGYb9SRsm4vNdDzVCdPQQqi7rBIXzvdy3uDSh8nA66W/
SWVQqvzajfVU47LSZSfDbpbkO0aabxEDZDpLItIAWKIZITIPgh47KW6px+bqY G24xUHTF
oMi8p38ycE8BjVMZCgbfPt5T1IHZEiwFNMLEgnrwVVEKJIwWVI|STIFII76V7gWZ0/
EOR4VgvTRw4U25SBIIFPmMY5fthdByBSB1J2Ew4gjkXLXxSU6X6GYAHDUC8QQqYwWOOX
gBpxweeKelvn/iyYxQOoAIl/
sfuJQg0zeerXS8kQrYJIHXgnFFh4jNxPi5XglaH5NMczHOuyCsbFTnrotqFItGzFLzbftxS
BjIsZF7Y9TupC9+AtmOR9ONuUA38v6Uu+C/O6nCa2VbjJQba5Y/PT7GOn+e0ho/
zMcXzKoQ848cQ32BSdisimWIivmXHyHjGmwvvKi7EpdJGzPN8MBuJkzqf888X3giFpnv
MTc3jmedTVufAWB25/
Z+GE2+]SzHM8veGagafRsHBu++2WFPGbfA92FMsB3hNgDJvSmaGbnieZVdj2JGmix
mF/
1WANHNBGID8Ux+4c794FMJ+ZbaZsdq+670NEjVPe7N8Qz7xkTgKiJUsrbCik6LvnEKS
kDZrXHHgzp6Ye2U+43p/

nt7 CZtbOAT JAKKOyYLuUhfkiIT2w04cADx1mDCZEAAMsg1lnuHyXpps9m+Un2Zx+YbHSAA
RwiNzeY7BIv5i6riMudA/UantbnP9y20x6FOsbaDS6bIItTf1u83wml01z9/
3a3HUdOUDS|fph83ykU2e00ZKXHAtrBT6z/OhyN6UMTD/612bKeP6evb3Pct3/
8sg5FpWvsNUIOD+XFHMWyv2aJdyle4EzqqcpO1xORbaksecQKXt8TkuxK4eKy2pJwlil+h
uXegJXYWJSJfSe7cvjalx7fUu9j1rD5RUIK9QGZ+00S0DicZXqlzP2NN8leMrtH3PuPmKy
HdyhAAQ74jl/wlfSThumPQIYES5XTvol5cM3miml/

VOPMOVma04Nkcoal XdhfDZOmnwDDhxABOIIZNB24DrnTOs0+aam7arOYWfi9w4Nqq
WXIOQ9Zb4MixsPPOY6fCL1Z6tRyv83Fb7VLIWvwreapfBV+FazFL4K32qWwIfhW81S+
Cp8glkKX3H1D4S9FPFWVAO5AAAAAEIFTKSUQMCCAA=="alt="">is

Answer: \[-3e"{13x}+C\]



Answer: -3e™{13x}+C
Answer: -3e”(13x)+C

Answer: -3e” (13x) + C

Question: If demand function is p=40-8q, the marginal revenue (MR) of the function will

be
Answer: \[40-80\] &

Answer: 40-8q 0

X o°
Answer: 40 - 8q e
Question: When an equation is first partially differentiateWriable, and then

partially differentiated w.r.t another variable, this case is S

Answer: Crossed partial derivative 0

Question: When a constraint renders the 'substi ethod' useless, becomes
effective

Answer: Lagrenga multiplier method
Question: An evaluation of the margi enditure of p=Q<sup>3</sup>+4Q+3

equals to

Answer: \[4Q"{3}+8Q+3\] é&
Answer: 4QM3}+8Q+3 60

Answer: 4Q’®Q3
Answ @(3) +8Q+3

@lion: The marginal propensity to consume (MPC) of the equation C=1000+0.88y is

Answer: \[0.88\]

Answer: 0.88

Question: If the average propensity to save of a household is half, the average
propensity to consume is



Answer: Al

Answer: Half
Question: If MPC is 0.6, and consumption is 85, the consumption function 'C'is
Answer: \[0.6y+85\]

Answer: 0.6y+85

Answer: 0.6y + 85 od

Question: The difference between the definite and the indefinite integral is th
Answer: definite integral has limits

Question: Study the function F(x, y,/A>) = 0L1't(x, y) + A>[k = h(x, &refully: F(x,y,
/B>) is the
Answer: Lagrange function

Question: 0[1't(x, y) in the function F(x, y,A>) = 6D’:@/E>[k = h(x, y)] is the

Answer: Objective function Qo

Question: In the function F(x, y,/A>) = o[’ ) + B[k = h(x, y)], A>[k = h(x, y)] is the

Answer: Constraint function

sup> . With respect to a€ X& he partial derivative of this function is
Answer: 10wy3 + 4x3

Answer: 10wy”3 o@
Answer@%x’%

w: If g = dw<sup>3</sup> + 10wxy<sup>3</sup> - y<sup>2</sup> +x<sup>4</
t
A

Question: If g = 4w<sup>3</ a &%wxy<sup>3</sup> y<sup>2</sup> +x<sup>4</

, the partial derivative of the function with respect to &€ wWa€™ is
er: 12w + 10xy3

Answer: 12w + 10xy”~3

Answer: 12w+10xy”~3



Question: If g = 4w<sup>3</sup> + 10wxy<sup>3</sup> - y<sup>2</sup> +x<sup>4</
sup> , with respect to &€'ya€™, the partial derivative is

Answer: 30wxy"2 a€" 2y

Answer: 30wxy"2&€"“2y

Question: When the substitution method becomes useless as a result constraint,

becomes effective.
Answer: Lagrange multiplier

Question: In matrix operation, any matrix of 2 by 3 order means &
Answer: 2 rows and 3 columns 0

@’
Answer: 2 rows, 3 columns Qe
Question: When the second derivative of any function eo@o, the occurs
Answer: inflection point 0

Answer: point of inflection Q

Answer: Two rows and three columns

Question: The first among the rules of diﬂ@lation is the

Answer: Constant rule K‘o
Answer: Constant 6

%plier to optimize <img src="@@PLUGINFILE@ @/
ctto x +y = 36. Therefore, <img src="

Question: Use Lagrang
Picturel.png" alt=""/

@@PLUGINFIL icture2.png" alt=""/> The value of &€"ya€™ is

Answer: 15

Questions Lagrange multiplier to optimize <img src="@ @PLUGINFILE@ @/
Pictur, "alt=""/> subject to x + y = 36. Therefore, <img src="

GINFILE@ @/Picture4.png" alt=""/> The value of x in the equation is

Question: Use Lagrange multiplier to optimize <img src="@@PLUGINFILE@ @/
Picture5.png" alt=""/> subject to x + y = 36. Therefore, <img src="
@@PLUGINFILE@ @/Picture6.png" alt=""/> The estimated value of A> in the
equation is

Answer: 276

Question: Use Lagrange multiplier to optimize <img src="@ @PLUGINFILE@ @/



Picture7.png" alt=""/> subject to x + y = 36. Therefore, <img src="
@@PLUGINFILE@ @/Picture8.png" alt=""/> The value of q in the equation given is

Answer: 5,244
Question: The Marginal Revenue (MR) of the function Q = 46 a€“ 2p is
Answer: 23 &€“ Q

Answer: 23a€“Q

Question: Using 233€*Q, if Q = 6, then MR is &
Answer: #17 o

Answer: N17 *
Question: Total Revenue (TR) value of the function Q = 46 &€" 2 t ,IfQis 7..
Answer: #136.5 é

Answer: 136.5 0

Question: From the consumption function C = 2 .75Y<sub>d</sub>, the
Marginal Propensity to Consume (MPC) is
Answer: 0.75

function C = 2500 + 0.75Y<sub>

Question: The Marginal Propensité t? g;(MPS) is given the consumption

Answer: 0.25

Question: The value of e&mer expenditure using the function C = 2500 + 0.
75Y<sub>d</sub> is , if disposable income is #2500.

Answer: #4375 0

Answer: #4 Q\

N

9934,357.00

Question: Given the Average Cost function <img src="@@PLUGINFILE@ @/Picturell.
png" alt=""/>, the Marginal Cost (MC) is

Answer: 5Q + 6

Answer: 5Q+6

Question: Using 5Q + 6, if Q is 4, MC value will be



Answer: #26
Answer: #26.00

Answer: Twenty-six naira

Question: The value of Total Cost (TC) using the function <img src="
@@PLUGINFILE@ @/Picture9.png" alt=""/>is Jif Q equals 7.
Answer: #220.50

Answer: #220.5

Answer: N220.5

Question: If MC = 70 + 90Q &€" 30Q<sup>2</sup>, and fixed c@stis 100. The TC
equation from the MC function is
Answer: 70Q + 45Q2 a€“ 10Q3 + 100

Answer: 70Q + 45Q"2 a€* 10Q”3 + 100

Answer: 70Q+45Q"24€"10Q"3+100

Question: The value of TC is X inf@bsoltite term when Q is 5. What is X?
Answer: #325

Answer: #325.00

Question: Identifygthetgeneralized power function rule in differentiation if <img src="
data:image/pngibase64,
iVBORWOKGQOAAAANSUhEUgAAAFSAAAANCAIAAAAWBUATAAAEMUIEQVRoge2X7
08iRxzG7z+aNyTVxIRoLyaU9C7G5C65NIXSplITiB5OBVAdWMAVPNIFQcxGvWwVztQ
rowgs5eJpCU20NJIGjvaisXepvwihcbhXzCv5mV{LP6+epuKV0g3ed4ws8w8+cz3+8zuLQk
TaERWY
+8591aWRkejo9H5n9DIWZG9Z8gGIAIQDWzWLZz1QjwUNAEQA2ros9p651N5bFqwnxc
Cdzyc670FBLOC+nHt/KMC/
aFc6RMJIkb4NX6BiWSxemyjnxNkQAok4+WlazmpyhRpZcYQaYfbO7dQInKIjuRSttTCc
WpAljbgDRe3z2/
NQ+R3P9U+MAogfrVVWrybWdw99mHaiT+z6PiZQTuyE7+bMqG61Jp8SO0cOrUSNEY
CZ5cGaqsMHr+Q3GhgCcdhVULyinBiDgXz2UMHkmsGBoae3162KtTelUEyboD+wITBC
BsW,jydDxDjc4Lyvijx1/Lghc8rZfC1Ci6HdN209nx30OVE+3d05NL8rMdAO/
WWAN84sVpswWP44nn+JugkF3W2J2m8ZaY QgOGIxng9FMRM63+Vk4s6iHTe1Nmak

uQ/



BN770ZPvszgerjwP8J4+x2wvarjNrnp114JYJRI+5N1019Xz1JQtqHCihk49HMGNQVEQJ3
afxGQ1YYJI58tcysUdZtzeY7laHJO7asd4hOkO58t432VDAPoDFSJhIhWeGG3RpEyYSy
25w3CbHqol+5u5y8QCTwrofQNTp314LTQCI|Cv71zknNXR2mPFwWpEKeCSyA9HC6LmM
FSToR1Fy02S5U5B/okfiThuuBFALIZXSLhwzmHy/
rkTILoJv55UxfvPru08loXG6QVUymn4bvO74S/
3x7+1yTDpEwkeTssPm02+MR5gLFZKIODUDvV7AsiIYRILOsorT2Fzvte XKWAIyRmMKQoA
KL705dF5yNALUVKAIcZtIRymW7nC+jimk1LxZWFOfi+rlwlLn8RIsiRyAqFOMWEb4gFI
FObEDbIuDcfHNQVBMmMiIMDURIrZJZtTSSa9Mn765KibO37XHUpM770ontgzY 6jbNEGEAE
oPXe6u/
KiMLLUFw613eV7KTDRz3dV47QIBTLMEI44JwMLbx6J3TyUR+A]ThirnA3FTpyibWhXq
HY+LKkbNUAEbKuJRgfUQtPoJPtOpCDrCqYWvVfRZk3qIGd8BHeVS11s8/
VOsfvBSLjZBIeCMvWsQKcXSYXkcw0OqgRskoYB2fsPSOODilAke4zpmc6nj35b+Hbjdeef
Qx7h98MhLiOle4jh7uPT25d031U0jn6KbdzvNmv448QGBXNXE6GLSZVAITQALRGMREK
5LXRC692VkgovwDaXKjqi3wooxpyoSrUiYOM60Oppo0pXZ4l1JFp7z7zUMO8Y FrwléRz90
NN60d2UUt+hbaMNDoaHY20Rkej00rS6GhONDoaHY 10K +lv6eqMJIXZz6WKAAAAAS
UVORKS5CYIIA" alt="">

Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAHAAAABICAIAAAChg+bcAAARKOIEQVR4N0O3Y7U
9aVxwH8P5H5w2xJeli6oyJMXNxJu3SLmxZT3INdVo99V5BrzAeHCUwQBI6gxhKkVZa
JCWMFFZqq25ImLdbGWxuQIpGl4QX3Bf3Zd7cXIQuW6alva4neT 7xnOf40Pv/
s45XBBEieQ95sJH/wT/
SRBQA0p3CCgBXTsSEIDIHQIJIKQPEOASWgeleAEIC8QOAJKN4hoAQU7xBQA0p3CCqg
BXTsEIIDIHQIJKQPEOASWgeleAHK/
ule93JxceviGg756dn3tHrV13tADa7C+xBOXX0AMXHTTd6+CCO+/
bX44VhTfilOmoHx8unnAw70qHRrMOGi8pY8BEAGIbsZKdVeV5t06ABGAzZOXB8RZ7Mi
UWEN5LkzacOlspH+eu0YamQRdIdVGeyS/6DMxy/
bPOF+h+XEPp+IMH9YeyEacM2j67dexQLANOhQhApHau5mrje3Y9fXTkn7Nt1NgMs04
ADf2pvCBuGxmkdmfONW|BZ90qzLKFlpbKad2vbh00AoovO1WMQFqg2le2WwEQHT9Qb4
02mTYOOXTDzZ33wTcW|BOLYZKQjougdpvHUOL0iQ8jfY5ZhTi+SWNNehOpBvSmkhe
6eiWYVjbHWx1QAQMEruHDVERZ#MzwWjlIQLORP3YVPzaELjpWTI2kW4bhcpinH7tUIM
2++eZZ/IRvPY6gayEbgA7XVILRfFWDHa5sXAMRGA4lauNL1NAkJ4/
fnluoK+20lwW3uPun/Ayd gqix4ALb TaFJv2mL9a2MMQtIQI/
dg5yKp6TExgk5tyfK53a2§d5VHO90f1nMKUWRIFECUhMaliwikx3UshAD2+ym3n3azm
wetcYloFkcga3K27MBtXAMhgl6sj+QW/
67Mx9wlal+mMFfdXXpb54CFWS4lo0iQkuaYeq5WXBLEO/
50+achyfeLxv09rk90sY+bGHRpAuUs0403fv6YuGg+5EununA/
NkTYgA1FHRV8ZFSdgItRIpiNtGBoGxyKrSHaJe9opnLSefU61iPtzBhBJFKTFrAhB1B5V
KadmnPr@wWSAUszbbkelESnsx9AhEYe7gQsqsgUtmWTtOWGpKzgW48mmqfwtld9gkh
UjtWya\WICVyBgGN2g/

JINiHGDWpPIOMX27 XrObfRAEEucFYHYPLNNn1xvpJwfyUQBN7LpSs+PDHbWFWTN2xOP
d4 TKmgE7uJddDI7TelzrCusKfEHIRLOsgDQVrxSL3wwgSz+pKpwMWkzehNa705IgSv
NurbwU5WOTbbYIXpSE4hJFIUB5flrv5ShHQWgIOGkCzYeO0yOwMQeU6gs4520bmWM
c8GXTZp66cmQ5YAETdgfiggNMIL/4zgSsQge9jvOJIzIUGT9xGoJe7/wG3Uu8bNB/
XQASYULNHrwVbIWr1Ps+thbvM0dUqgsVIPTfINNtR4X9wCIAKSVBv+UR2TiQ62j7p9R7a
HFrcm7tmtcJsuHDy2/CpzdwmbOHajcQCv7Isr7/
pPgz6i00Jc6KwHdAzC8cuLG4ZGNTGbZb/
3AILQWSYYLwgnl1lCYMIiMAtfOp5Zc3G3HWGoUu8GNBHArNmMAMv3500e5jPUULEATQe
tqh6rsdr7+cWvB3WttKlragW6L6pbh+67J8YvIyC5JC8Nzs2LcqUb5LnIPTHeMgBVQQQ
guUt1iw8qVfiRRL1t7ttMZhmY7WUubKezyuz7tMXxp/gHdEn7w6uN30sbtlIJAmUnh/



9+THhg6tKzBOA/fyJ04vZ08uE2jFaSr/8KCSsPP4KnViQzxj9ux6utWzhn95NhJu/
j20b5JT3NGflaWE33JpNFyZu3BPw3+xn1nNvdNN3r4ILWbS50Sz4aD/
wxBQA0op3CCgBXTSEIIDIHQIJKQPEOASWgeleAEICBQOAJKN4hoAQU7xBQAop3CCgyg
BxTsEIIDinb8BU4XBe4Ch/mgAAAAASUVORKSCYIIA" alt="">

Question: Solve the function <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAFUAAAAICAIAAABTMLIGAAACWKIEQVR0ge3YO
UtTURwWHCP+j8zLEYCBIBBoIFSYZmNSRK2wgt+Nmu9dt5qbbxGls15ysoGakz TIbLrUkB
RXHAfCbIPIjUsPEpcedp70OYw9bERWUOuU5t2w++T4fz8Pvwu7/
7u9wGmMbJ6ToPuFYAf/OAHP/iBD37wgx/84Ac/+MH/U9Tj1ZWHI/vcl+|68+/
HrvN2o01lo4gjCruFUvfnLeTcyCH7wgx/84Ac/+MFfJ/43hHe09NsMmCBMUJ/
Qwjvlah35KxXw610B+KvHN1573GnxtA3Y Lk5vZUqgH6fgNi+futv6SyvsLiW5zY Oa9ENQ T
hAOzKpMpW7pvR/g3PyRSISEW3vGHeF+kgsifWgxeCu/
[1IZUejgCh6CZI5SYVsmplT9e9kxf2IbEa8CIOueUWmMTFYS3ZigsWT2X5eFSny*hNHAX/
0C898rMImyfElyYHIIktO9jafOSf3rHCbI8IRImVwefpd9t/jrzb+a/
7HNO9Xm3+INBJFIgjK5sM62q3v4T+EvrUChTIRfAG2Gygz//
+vPK5nY90c8ZTJImegUwtbugKJb9Qexq5yNf6WZX13nOPJt2+d8QWSZPXBBroYpQbc
VY S39+wvtmDSKCOmM1uLsUOIMFbrn8LGifdHSg2Sx066fKXNBj5D293vFWUTK9rjg+n4r
ddlesoy6jON7InGi/7TRQ2mEYZXFiIOINSCF5yWN/Ron5300jgSKEKICWOCNnZxgxYEoey/
T4kd/Vs5iTEzXul//
12+yILWfKBC5mksFI+zyRn20bja5TVvL+UwoSTGIbjO5SRIj#4yam7S7Wil+Tocvg6LgLCl
edDHL3+sRf9h/BpHzoUiHEfOhtKyunfHNhk4+OFCjff/8@XXbz8vejgdo002aXDMzz3b//
7GXX4a6hUFhIIRDH03PteiX50AX+8KwWA9+8IMf/IQARR/
jBD37t8hXzPzB6VWOVPgAAAABJIRUSErkJgggA=“alt=""> using the rule of
differentiation

Answer: <img src="data:image/png;base644
iVBORWOKGgoAAAANSUhEUgAAAEEAAABICAIAAACAISmMKAAACVUIEQVR4NO3XT
2sTQRIA8X6jVQRPKYCHQsyhiNCCh1IBOYWUT1DAIIZFk2ybBdV1Rm4gt2fiPdAmOVWJ
rFqgOmMELaERaoUUjeQMhAUiuwpesg|B+tBUNES9R154bnNMMyPGQZmgvqM9yb++Q
7QgAY40QFGalARGMCEBhihAUZpgBEaYIQGGKEBRMIAERPghAYYoQFGalARGmMA
EyuDgSIJQm31+De2aFhAJz4a99WmJCDwbXF1JRctGmF9Du6adKDylu2aEV8Pe+nR
86d77EXV4Nbi6krmwcdD3GSXDd610KpH7Weqzrs+oz6yHxaC6ZXuMQjP8cq2YRAJY9
gh20R0QIiSCIQ4kcaXJFhZGmeu39X8wvCaJXEhOCIIRXFSQ47t03NAAIzZTACAOWGKN
BEMkYw3PgKjQcu/
1Wdsms20NO7022el0rf+LQB80OW7I5KAPD9Tar7yeDwHx4zEKqgtjWu2PGxzLiBYMeV6Z
VLRzeS0s3762z6hRuS720vny0+2m8MRbIPXvjRXrgyYVSO0lkpYqqYJULDgM7tan4vpi6
6DXrUXEjL25ERLChcMc97PujFZUIKdP6zpx3i6kfDQEXHLWdiIJFgqUP90VV3Q89n9VJIGE
Bey9ldD3K]DNbw0OgmLy/Mq;jiJieXRvQQSM692DDY +3H6skbluOxOtyclzKTyzu/
+4f+i4pO6umL+anctRIFCRUQVXZuXrWG1GfU29WL+bBy6yzJInrne20LybR1ralARGmMC
EBhiRAUZogBEaYIQGGKEBRMIAERpghAYYoQFGalARGMCEBhh9BmM6MX1fLTik2AA
AAAEIFTKSUQMCCAA=="alt="">

Question: If <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAGQAAAAYCAIAAAA/
awinAAACXEIEQVRoge3Wz2vTYBjA8f1H76UIO84NUY{2sOMOgrySsYr78daspclWW
6dtHbTO2TZ0jJmJgP3hqs6Ngcuho6GDTioFK4EXPO0Qdsh7eo8esotzoowm8yOPfA8IF
N68n7x5yABIHDpHAXd+B4IGcAAHCEIECAAHCEIECAAHCEIECAAHCEIECAAHCEIECAA
HCcEIECAAHCEIEcCP8rXNeoSZHEzaAyvFjddi7+00ciiYmg2cuFzHpOPuzDBP1eekdAOKSs
Rmn207B9XcgrCiZjBKeOHbzMIy1LNPvVno/



Ts8sz8X0g+N85YRQ90ha9nSoWgNj6p3HMx9Xz5MY quFapbhepu+euxgHC6diP1locm
a0VmCAuqGxSmzi2kZ4WSq3bNVjFLhInbQYZzWtRFppW|jxSk4Zz0x13dyaFzOuu600
YjKOUu8yTIkjNE3Qfalm9X6hTTWGHrxrMnNpgVxbbbm6KQ/
gnCOmyJotyjhtvhriFxJXjY O3dC5AXx7Rtl+kygH+C+xOclwsugxenJgCO3K2fMnX+acY826
39Y6LCc9eFYSLcp25EWQcIPor+qg5tICQfhp/ohTgxUP93jA/
fJ4ptfeWNw5cWgyv+7CNPASzvkiUYYjgTGiXMLuDLjWaz+Wr6gNLuMnw2EimzOFhjv6
XtbbHee3vj6EyUiud4epL5E1uwzkDjkglTpm9kQkjaTFunP6CEzG34XYDEVFNSYsm7+xr
01j2rx50LnrPQsDZH19mrI9xN;|D/
J+EPpYKXdH20ewPVtAAdWACJEAAJWACAEAAJWACAEAAJWACdEAHTOfgIMgMaPIv
TQAwAAAABJRUSErkJgggA=" alt="">, where <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAACgAAAANCAIAAADYYp3VAAAAIKIEQVRYhWO49
+nHgCCGUYtHLR61eNTiUYtHLR61eKhafOPcxvTCcv2UYkzkPfc8zSy+uC4yqzZmbaY
Zy2d4pnSUrdvaOlbt2LFgxrgtM9bt3/
bwl60sXjOzt2TLnRuffpxbM8GKfNN2T88ntxQHL7pOj6C+9+nHVU/Pp7WWOUW45i@PT/
SLs4uT1RHMUGhZfXBWcUpm3/e09q2vCUuho8YazDfrp/ZNv/
7h3cpl3SrHNNLNOsfjhjvTsYv3G9Sc//YDAWL9yxW56WLxIuklIKecKah/cH
bj36XxTebFJ6aK1r+kTx5ShUYtHLR61eNTiUYtHLcaJAMUDtQD40QgvAAAAAEIFTKSuU
QMCCAA=="alt=""> is 3.142. Differentiate the function

Answer: 0

Question: If the dependent variable is Y and the independ@at¥ariable is x, find the
derivative of the equation <img src="data:image/png;hase64,
iVBORWOKGgoAAAANSUhEUgAAAJAAAAAICAIAAAAIS
CpPAAAFUEIEQVRo0ge2Y0U8aSRjA+x/
NCzGakBDvmibVmMaYermmsZfrNGuUu4ojKwidi8q2wLnSKkU51KOloByWkpBasZVL6
9XQRFUNWIi402/BE70gPu0/7e A+Lumgqro@4dpPfywA7M/vOZr/
vWy4xHK8gly5VIQCcKKICEYYxvQ9hGuBW|divV3gbHMxz7KuRquufQDvTXdNioVVbgDN
+CsMyoBQfwfAjbDrdCXPPKkDcOtmfUIERNXI TNcfGHIKEQO]NZ4XY ZI4176v+UIIXRDW/
TQicYalLLiz94naPOxNOnhdhe6Q83SvQ+GPwg9QLZSIs4a2HxmbruJYW45vaPv7CrJce/
OnPTOyOIsKSrwO3dEalrk/djmpw560V3ZNd+CXof6p/
MFiDfvitXNAath5yAlgOoSL8@eyxV8XGGszPFji+IskSgUZo70z9w3A8k462YQhAy0Dy5
DOwOw4CYEOOIMdOnsLMXeSNmc+pvWFgNXBNOzJW5Hh+GrbOXSVs1/ts1/
VGAHFNrOoOX+VKuLSWMW/gBEoMM9zfEM92GgFwGIGieLpLjUaviwyW5JsPsztPrTFO/
Y{57hoYMOOJfQaYEZ¥5MBfcSrxhKWX++IxFHy/

xfEM987QhQDEhOeKZMW 3fjvAyJvBD3tPWD/
5Rtq6pQpLRtIXEKIUH+YZX7TZrE3990Y08qZ/

TUIOpZH10ka1¥ 3mrdMPd+Ly7WTf4g+Xh9/iEbXJY0z01I8t/
GwmM3zEZAURq06h16d9K7CoZGamDgMY0G8vitf8iuxAO39H3NFrpBNzzgm2hopx+le
Sb32LiKaQiH1kJpkLONsi0LUCUKS+g6rQ/WIn7tQADmMT/
16yAEgaUgc+XHC16Tr++54DL7wsSumFj1qSNMFyZCNTVIqjDKv7DJ7eUZIfbEI7TUZO
SSOQwrrVQtZipxR3/

STRQk1Gnej8gUWcdRKDXL9J5eko TIVAImWdjydIrEIEHsXyMos6TZPNTkXaYcdAfSR
5WiOroJWH1t347gOhGMHMGtvZgVyJONcQ11ugrQclGuBVD4N7skjBcONRBVO98W5
asU4YaJrRwLb5PwnDeRYqgH5WQj1ALRVfd70Z1nXRQuKh6sx44DaDFL+csn7KaOf+6
b3H8XmyQ9dB8BiOpd7xiOf+42A4gal/
J1IYWHScpLydnbCZh4TohgJWzcbEpLfMIoiPD2FRyGh60QAO0/
SomHXQQGrGGxsbkJLT4zsnQyPHQGIgN4fyOeAxF+LA7K/
w+oLWzPrEeh0T+ezQagFItX90NLRkJ2khum9s19fyOvjAKLbEfFRiIHdICOh9QUWG5ZKD
XjApYVBNDACKV/



WWK4AxmOdVsRyGfmTYpAAD4eEOpa7iWGla2AIUPYdrgVItAx5s3xDJfx211A63RLIAE/
AUlgDgnLuigc/DI1x/
FMboOy9VYqGx+GnXIsBHAHXB9ZhuNTa6FWDAGMGIhImXxKFB6pjlcmVRDVOZbL1
TaXKiwVdaoguoxTapxul8grVMC/
WZz5kfQQht+BYtOAOpHaWeghCY7K3oldXuhCAg+RKJY7LEXKfgz5ns5aovUvWthMFN
559b6Pul/
bYbhiohm4DgOjn+bLFpFRh8y5SIK8rSyqzHk7srH81t7wzdimS87kgO2pBAFptG2Wbs0
Rhhfm6ugjJubDprzblb4JKE5aJtuVbo6qHht+KjKgON/1VJIrXgbxS/
0ZaDOwv7+Hxc10OC53JkghuY1Ereall PlaqtiuM3fBsTd7x8z56VLVDhbFGEYQXEmMXR
hMKMRJJMUYTJDESY zFGEyQXEmMXRhMKMRJJMUYTJDESY zFGEy43/
NxdVfz4HDEgAAAABJRUSErkJgggA=" alt="">

Answer: <img src="data:image/png;base64,
iIVBORWOKGgoAAAANSUhEUgAAAHOAAABDCAIAAADCTobWAAAF3EIEQVRANO8Z3
U8aWRgH4P5H58ZYTUhM3azZZ17Sk24QmbbPb1NOMAVYWHDqIX4wgOpp@©QaV/VFt
ywllrralmyxK9W2Sq7IEYwbbCyoTsJV1wQL2auzuVeDF/NNrUlYzGzJ/
ndEDjMy8PhPe+ECc4KESb5Y zjWw8gv9VCDfhVm8IN+FWbwg34VZvCDfRYm8IN+FWbw
g34VZvCDfhVm8IN+FWbwg34VZvCDfhVm8IN+FWbwg34VZvCDfhVumiOKHdym7/
Zy91IxzTd9p5IvuH1CBIWcnuOUe6G3d6iZ6hfi9TEHTMbULPztz1J9EEIUDPBXxpdUSES
wOj6VICTVRWYATP+uergPWGaow/
V0OXeY2eB4eNrykLQOFgP6nBQKkLseAFIC70JIXDXU4u8h1FXSGOpRteiVRYDQWMsxt/
SFhlhDogOkzvqop7Lcz3cuNthgn25XHDi6mJuPglAd2sKyE2IMMR3+53su06+kmPXN9O
rpVgHm2mJoad7WZhtpNthazx7H9eefeDs8C2Gd5pihZ8dBDnHIMY+9pNtmbTg88gKRPN
OA41j/etlntdKcKejM2220GpeFCQXHVZQIALWULQOORSUiHrFqA3+1iliQcDLI1cARR/
Kk98ztWPrHeiJHgoSFiBdA1D0ZU44775/0A5She3MSSGIOMAI+pSQJICxLOJha/
NT8Yjx8Lb+J80tAQ7tx90WLQRkXkyx84rAhAIBUWBQKLqSUtZAbjIRenmHuo0I5A64T0
3/a3Q+s3DWLg8u+88zSnG/
SyggQiMRjPyw8MVHUTNUW{ZE63Tkds@x241/WZylS+jCOVTkgLcboYGkNaFSgOofwIB
WDY9XNFB1GoPPclhQcJC/vfbFNOYPrEXHOd4zyUOfpcdv2Qao/
iI9pFLWEt4KugBEgFOr+25QEAGOLIE ERbsWIWKWEtsP643g3cXCn5I/0gXulW/
2iUnRfTSNIALUSGF1c5wZbORWA4SXg2sx+tKd/
gMPuvmp2WvjFWyaG3q7nY@x61ludGPsAN2fHXpRdk375wulzt/
e6btP3W3LKFtt54rNhOK TSXKXEYJgOM1XTsvCK+dAb2IT9Lg9+1XNbGJIRS9HawKtM
ZSE15SsoWs9/s+IvreVORWKhAIDJILAGY SG3QRMRZmItXsRCfoMylABHmMLgGKC/
AfeCy0aChdcQr7UKMbh60me4PzPO3TDSANAUXY2YjAoaZoOx7uKKDCAyHFewbHy
uyJ/C4iMtHZY Vb

i2yoynZN2Y 21PRjzé*+ Kil1ldQW4xOudgMno8+9XWnN30ayBDbx8LEhYKr2e44SalwMDyj
oTTK54miJR(Nintyka8TRB1BIINHINVXPjL5qH2j6 SXX/
ngwtyew2«sXDGUfbhatO8BGRABOzhSwsMdfrB2rkoudNRWeKW4AxGmRbTDO+t61g4XT
iuTwnlkUzawDO0+Ut0d+ekRGSApXXEVTNOARJW2uDBpA3DwtBv3ByI3k4HIHQNVhSYA
RBe8e/JXLj9UsHErxp2MeNvK1oKEgxx9Z/
Wi4hPj+oRBNOOXtE+R0AJ2DcXnJgcP6RRg3hIX8Vo+JBsbAkoQFCaeX3QDausJ50Ty
OyJULkuifodVt3MpwZxOLWqr3a+dDIzdr5GaN30QVQ3mfJpeOFOrOlia5THxJZ+ijwu+yp
WbST29j+ZfRXN5ip859uKKDqLl/
KVrE2bdrlYNRKjUTeTsnIzNtFAIG37xyjVsR7jcuW+1AKqc6V2X2oxa7vbm7r93UpOEex
8bfpVZYBecdrWYxg4PMFctgwCiDt+rz2jc9Ud8HvZd0ds05kGNkfl+7kXNYHoc4T1f6Ye
vDbsu08z52ruhM80tQFYfDdZ943BKSS+7AUTX+Dr/
RjjL3PKdEefIJNbySak7p6D4D3IW1Lgq9P8A00sUUYy1Ph2ri5qdgJ2WP+/\WpX/
HEbM1zNSU5rZtnbDIhldxnNISbcKs3hJtwqzeEm3CrN4ShbcKs3hJtwgzeEm3CrN4SbcK
s3hJtwqzf/AjXQ02KnM90zAAAAAEIFTKSUQMCCAA=="alt="">



Question: What is the <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAEgAAAAUCAIAAAAEIShXAAADNEIEQVRo0ge2X70
taURjH+4/
OGxkEg2HFoMYQEuUrNcLAAMNS59KyrUjcv6u2HKLom2kUtMdOKomT+3EhZhZdi2n7v
QiH4Skh6MV/
5¢i91YGr+nu60C99X5z7n4fmc5zzPfc5Atlj6LzZXQ9wg4MAGMA20I0DC2iQNjmzgwtokD
Y5s4MLapd2BM5mg19ulLY8urWCy8Ifn1b4AV0iZSO6wk7iusltNaVPTWulQkTg6bOgLa
L5gidXRHbNOBOG6AIABeFcxiASOj9WYWdUiuxCe9XpmmHCZ+RJI6U2CN0GS6mMnEZjx
2Alu2cpO4EfISUfdBgBc28634rOQUiVRqCvdV7DvuxMQgY XQt9ohJuRSNGJIPNZ+uGx
1QBJA4PO0mMrRtglQcPolHgrHbocecgxLHD1gsm6eFDtTzaF7Cla0gxPyRTAYh4EnxIM
S/
yVxbYnhOHOGY9uL3x4IhHksIF85IMBEI68]FSS35QLO+mSuzyQVFED2kzvgWMacRAa
gn6Lu/VraBc1KDi/
cvmWJp2zYLIBJ6IKOEBIAMDpYNnNNgmQIrAUafuUOdwssTcwgILY5axfDuU6FwiwvVL6Y9
D5efntaLGWL+TcGBODS8uf8IJmWcXN4P5hvt7R1YIflcigDyR2sb1A/
unVSMgMoXav5QegdG+0YhGrQk7rgwdYNLevht7/
3bYJkdS+2f8h85jQhlIql2yFYYOirVGPJ6Pug0Aomd719liKZuLSNTE3Yt7+1pje3Ycl1O3m
|Ze+0it6zBiA2IT3PaFCABL4SSIbzDmMNuMCdvsWQC40g4tuO-+wd2U/
2vHXWmirhzEM5ih2VJjg+PvSSFGuKJel9Hau8pTaJZ/
VP3h50KSkt6+FAjj7YS5MXYIIRIEZjbSASXKSTkUsS3p 1 pdfkARQOrwtDSIdQ7GOEFkdq
OE/
QKIHmMS9WIL1G0A02vbLQ1HhZRa2dhz18EuTFoEIRZIpQdii7Vg6g2KMgmQ1Wsw1Ur
4jLxW5+auZCwasA7L8BEF+Sp02cyhMvTW+JSBaQ6JxdB+gWRJI19zjrctgbYjJHK2G05
nGllexWHjzY0dUPQXrsTgwtokDY5s4MLaJA20bODC26 TeCuAnbyzkQ4wAAAABJIRUS
ErkJgggA=" alt=""> of&nbsp; <img src="datauimage/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAGUAAAAWCAIAAACHXSPCAAADpPUIEQVRoge3Z
70sTcRwH8P6j7xMphQtJIghRWUKDjJILEXKMO5PiS523ddrOtpjFO3fVjrMXU/
IG6xuraUstBDmzCKcSghXHgoz@4fHD36B72Y JtOt7yVclvlhfeju9v47LX7fva5707Jmo5
TeU7VVvYK/K9jr//
FSsrE3wUu9rqeEU9jo60mIPxRIWazOJALzPrWOVirlLRGMv7IW9GITYC3thr8YJ9sJe2Ks
R8gFR9rZ+pgkiABHotbZRAASTS5e6+WnproluD24dOp4UJ8yDXLelL7+znzM9WKksr+2X
QyQtg4DidvRmzncCSarbistEbw+Pxqyt1gsxOOBANHF51Lx2U3XxKQGZm+EfGU2Xt2M3
+1DLYyLVN3NNnUXBed2vObaU2XFYmjEaBn4sZFqO9XPr5XjGtthBylHUNBV4nXt+F7CJ
BCoPDxQt4BANQRJE3ZW1CmeAXB/
t2A55AZwWsE9QUYRYGqJr2oNq6PVISTIE4O5L8eA13ZPfZC1BI9SEAX/17d0OpUABCd4VT/
YG69E6FwWS5¢PGmMrwTvQbLeAFNJFUVL+WLN/dOOHKT5bgefDVKPzQ5hi+gUf4Y+2W/
6ZUjKPE€nIgMmNdNelgvo4tp6ZUNetuvSRIrTU7NeAFGLA2XKZwWUQIfyCYSONI7+/
vmV7GVZOWdPDT1gAMTixNb4gmBOToa+GLbVaXroYj+eEtUzF63F9wddG2YVCNpPo
tMVaH4KDN9Xg5kkBu4DoyJa/67GY QIMfO1RhuTrzft/CrmbrecX3vJfZH35ler8W5/
NE9AIVA4EhhBAHo0eSGrpPBEPugBk+sRdoyJOxmt71eYYIRe2MIGhCaKL/
02MpstaymnzPf5eO6/cvDp4l7wja/
I5IRh5119xgbkusICZINEOamJIMRONB9ES8IkNUABEXxFnvqYQBEN8K7sqaKQXfrXrvVvaJ
ocz7cVABGANEHZ28Y/FM6qSXHCJNhOF9+N3GafuFzUF9LJCGIL7D8IUHONDw/
WI1FnPZn7K/Xgar/TxHKdfGTU5262uHsc9038gWqr5IXb/
Cvzag2SnX4xM7X9py9XEpTIcNP4t720E3V6zFraZLFX+WSWAgRE2KuyKAnKwgOlY9i
rkgjTY9bzwlo6KmAv42SWAQgQIGCc3mnyKwW15FREPTFXSZ3ZQ17GScbh8Irzu97YyzjSX
Bcs2s+wOIW/iLyPJOXIILIPudgLex0/0mIPZSd6EY AIKEwrXo8NGOyFvbBX4wR7YS/
S1TjBXr+Xn2WEOQOCa5yig/AAAAAEIFTKSUQMCCAA==" alt="">



Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAACKAAABDCAIAAACODbbudAAABIUIEQVRoge3WP
2sCMRjHcd9RFrkpUMjg28hQbEDSODt6YBD7hyl4CF3KWRGtTIOKpeUCxaVQ2sEuHW
4SnDqlg043dpB2Kg62PAHIWXfJI9OF5QICFYTL3VQE2bNiwYcOGVXN2Nh1fX14EOfCR
0nb9pgjEXBOXpWFHN/cedv46LMGGDRv2P90oPbaHtXjlkOjBpAmWFbvdI5/5DsGHD/
r3Vgl7TIs4Ne9ftLE24PKm90NuzkVaG+bAXglbMpA87SxN+2AnP6e3ZSKta+DRPGtT2
YtCKS1dvH8uc2s7ShEe9u898Qm1P3YEGIT7PV0dS23XPmly4tkJboS3f//6g1m8dyX3/
9F6P/Lxvf7brNAWOA2MYNMVYIX7nGwYbNmzYsLfD/
glZnEgZZDOS8WAAAABJRUSErkJgggA=" alt="">

Question: Differentiate the <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAEEAAAAACAIAAAALUAIDAAADGUIEQVRoge3W3
UuaURwH8P6jc+PFAIHMQNhiCwkSumijHXD0aPXwa9pT08wpvICtF7PJUE63sx@7JuSS
XsYIlhYFFo5hD9oDsogvpwufqudyF2KalLKZuz0zjwviqdB875nN85h6dOEKXbrarok’XwE 1
UAM50QYyQg1lkhBrICDWQEWO0gI9RARQiBJFADGImMtY XtWyZrkzwBhkHUY FaxJwZoa
OvRIwz1lyrg2mK5sjs2cYtD/
Qco9X0olo7fpHFdxSgLZ9uJiwAsLQHrgsVHLx2FyTBhAz7q2AEZ2xtth€nQzI1Jz4KYnpo
AOptm/
ulNeyxDCDscJ4W1Xd9DoThrueg7ARNX9NHEb4em3v3ckim3ilahceakioAKDInIRgyoe3
Y1W1w/XLyPAYEVXMECAY8RafmIrCRs8/
W4r2enmoDyhuO1VwiDzPU+daONj3uz5efgXY AGNvVbF3KRIBg3n6mtYW5YjzC0+jOIQ
5EpGQakcfNZSRCIIPGW70Wt1Wg/
x45agiFdv11tNCttwWh+17bfgLps7eNjSg3lzMHgXoayhePebkD4pTGeKxmKzIgRBmMRY]
0qSkIkxXTZz/
FIQM60ODgDDHRHZ7tICw1ZKQhOz5S]AWTKVE+UYL1jfNVIkylIDOcb7RgQIx30fTAplcG
AGFonE6MROIWIULFH6SUzIX3IXsy6XSpXAES/mOcU/
WPwc8ZgR18xW+yNUypMJuGQYOGEgqUDGXCbRIQxuVMFvenudKEQebYOvu5elLgp0
Q91T0o497HePxi8rWVM1DUtjHLrmKoWRPGaE9U3TR2fF3+cfgGhbf53+x0D8znFgMgLB
R/6FosxNhtxyD3LUVLxywRHReReCeTORA4I/
7H5dIfVjneHd6wIX9g8NjURaRy8WWA/XZgRB01cOR2JIXRIGT]QOE+9hQ5CIT+D6btHBG
TfiX16x2hvO37fn/IgwiG+SsSEGaFGzfinQ6jyjo/FIOWcoSi/jpGGHnsz2HT+UA/
Hyblh9XO7LnB6Vo031/
VOfbk+ogYXQAXxmhBjJEDWSEGsgINZARaiAjLEBGgIGMUAMZ+R8M3wFzyKNjiyP8tQ
AAAABJRUSErkJgggA="valt=""> of <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAADAAAAAUCAIAAADhVAO7AAABXOIEQVRYhe3Wz
UvCYBzAcf+]5%Kh@Ag6BBEVXiogCuoJo6KQBYYy1NS1GNIxzasYyY70RVGZGL2bQoS
BZUFFUKIHSYeP0sJ127BJUSgmaw/
HA97bfAMOPB57HIFAUQ2XSXYBBGIRBGKS3AIMwyNggMbnQziOPOok2/
IWOAKJATIKsSWbNsIggg7X/QH/TWLUBBQ9F1ySCg2+2WAR+Vkb/

32+ DpKvIiRkq8yJw70yt/qCiwLjMAOStnajgnxcMsaEf969BAKKS8IYWGEPSAS8/
66r25s1U52xw4C7LSVNKIDAVb8OIiyvecy5ApzQFFQWGaF68vFdUcYMBEFUzJ6shF4Co
IXZTMpw9jlogOhiU2+tzr8UINa+08QgBoHP4SD7aCreSy8Lj5ytCuhhzh21erUHv3VFOB
GxBvlj2gxyPUL2J5yhdMdBzsgsiML55Wn5AnGUWXx/iVXgcCjgA/
XdAM9HTqJImnb1k02GTZDVM9fZhU1lrdhed2guVzp8nTkcGUVfGkIU9QKIBY0AIJGFO
5230QFEPfGXvCLvx6gaOvW9Z+GPNyTudI54rYSniUOEQITVENVBTINnZ/
XT5k1QBUAXDIAzCIAzSOwz6c6BXq96DpKNN6USBAAAAASUVORKSCYIIA" alt="">
Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAGIAAABRCAIAAACMKeRaAAADRKIEQVR4n03Z3
OtaYR]jA8f6j90Y2BEFqlIxBsoQNFmyx3nGiZClveIT8gcsyl7WWwy TbxJy6tcOkl+K2DGKI



YxpFgwPGCdmFFIKF5+pc7qglaiwVIpOc97oHvlicirz8f3/
ODYXfECdG5don8DSQRMwWARMWERjwARMWARMNAZMwWARMWERjWARMWARMNA
ZMWARMWERjWARMWARMNNYGpsP1/
NKgzsikxJ+WTgavRG9XaC2KIYIwGUwW2RJ+WTqbj5r3ABEXSYqqWIloshTcvOgJ3CxAs
cn2UwWASZgAiZgoompWop8fKXB5NbOcgRQAYZxainT9jOXvUdvuYYJIJwgQxZgXe3r+4Lf
rMtDF1TtQz/czZfHPaM3qgb+HX8HnSOWO/
3nzHRETBJhgnxJRNUPPHdtzpuuGOBePC2lashzgixzSYWqZfcYzOm2SkV8c+Wr/
6SKj5TOR1QMgOpmMsBVkvewQSOBcCakwASZYpmLr5N/
rRyanNoqOQ1EPpPVvPKaDI55xR77B8QKXD3djIp9eY4srjMNrTe+zza5WXRIgjHeie9Jg
OvPSc+6VKBd212wcTB5e9nMbb2ZsSI+22IKIRNINf6rNjhKEPRNbILyhmArO+rLF4rt+f
wcedNXFOe/

dizVMPcswBBkigbrA8cLywvijpY Mm1likm1ixJobf3aE3q8NXf6IvNVEqoMUHa+eCHE3JM
OFh6hxfYQkyt889XxP39qGLiN6ef2ITWCZU5+Dwe6h229Lg8N63BwI9Ln6E6kOkatZaJ3f
1sdbhVerOMMascldr2CB1M1dylzulcr7G8wO6uMIqC8KizIMmMnTilk20h6ESZ2yD¥#OMCx
wvZBZGESbIs9rOTSMFtZIpPinDROZ4v3b0SsqPMEGGaFrsmelidvhGea/
yrXp8IB1tLpIindUfsmWIj+rtNI4dkgbHmckeRZvE1MmbBbhk19C9+luJXaxNi@WY mrGMhD
fkghRO5jYQqJv2DaS3Gd5gauWIp9KZbFnpo+pkmV0J0a8wKUDsrGORRAUKS5NnqJZfZe
NOwWNXTyd8hDs7nbvwH3TafKhd3/
Po3TRK7+0aKOmTopYAImMYAIMGgMmYAImYKIXYAImMYAImMGEMImMYAImYKIXYLpQvw
GrSyuSc93MfgAAAABJIRUSErkJgggA=" alt="">

Question: Use one of the rules of differentiation to solyéthe equation <img src="
data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAKEAAAALCAIAAACMXBYOAAAGRUIEQVR4n02Z
XU8aWRiA+4/
ODXHXpBujNibWtGbb1E26Sdusp5IiGaJWerkhgoShQqgsLUosgKrNsQPtA]SWUmMx2jrb1l
ZXFV01GWxu605DNhmwmXjBXc7kXIHBhDhShPTnJc+PIzP143nPe98yc4QSRgDdnSt4
DwmIDHOMPcYw/XxDH+EMf4QxzjD3GMP8Qx/hDH+EMc4w9xjD/EMfAQx/
iDu+M1fwNFK1+UuhsIBW/H8V6JECKDIUNQIOD2iPIuFQksc4+s49rzxngN/

zHGyY 35zfJKd/rfUHTE6WISXWNbublde9X7bj23J/4Z+NnT83/
n7jX4hLuzfh6egq4MfiGeYO05yz€CHodHTOWNKGpMeWDn65nVbXDy7nofnLdsw4AETgIrZK
2VrVTMuglgp+IDLIIZDzyGEYnH7CMY6TgT6DrM03y2euxJ80dIcrtFVKbRIUN7cEmMUQR
xxtnrkFVTbtLObWPx3+In3CuH++Ek9g5plQyiABF17QNOPIKSIViI94+NrbW05Uqgr5cp9L
YCqCrVFGfyU5ZdR%00¢gF5tZ66EB40AOT3rlielUZONBhFQe8NFGy/
rqYQIHEDhcL9LeWOG*+gzg/kgIN8e5D+ngE45cx8IhGw3uegK7i3ilXYOARN/
Y5jghFQEIQGNYTE|IXfHZKu2vd7NGbJIpSGPULuUyHIzQ+dgxp5KLeljLPjoNd1U6¢cFEJ3V
9Zpn/
zvOALYpRSWO+b17QzTsVXQNdKemNbWgKLU7WNv11BPLbSZj9P2jNVWhQmFRO7I
TgpLJeL

EWhKEOHRfv6atNk+mtLM6qdR23ImMFdox+7Zn00i6 XwjUx+nZPRAVJIOH3ZU3XNV1bt
CarHHN/
r7NeRobrY6tSH856KiG60NnZUERd3m2kA1Zc8mTLns1vMhbDHVLavUEIR6DUIglaYU3
fML2ruGvUL24E+PYAdhojlCeKKzwagimlObiORid4gZesJmH+LHOUYam+MvVIKJIBcC9
nKopZiOkpWQs4leYRIiFwtehQjInZ7wwNmcOiffADBrCRN930W6RtOy22b911fMMipAi9J
Z8zdQejSzffhfozO0gHb3QfcFd8wOXbBMRY Xog7slyN3DvMgJyX6rCkCzZa2gQ11fcL1
Y 25IIVIIHOMnp4UVO+PSLUbONTXJCejmW2+a20INUmM1UXkIR4c6nyaidAs8B/
dFulgNI3+IKnOgKOKJ3xXiloeflom8gTulOwx4LICeJW2FOOM/
IsUdOCwPOhJIpfdypFUQaS5E953fcZjAIDVGMwS8p/
IWBC5TX8DRADgNWzOLfrdpuO3rgvuP4+8nZ+710fgY Sjrkb2YjIMLV696le SEdAlabpsra



ESvmmgVoEym6F7HgDG4d3dN9BpRfvtHIsnil+12I8LOhRNKROk1BBCCgHVguSItSedFf
fvRkFtNxasbTIWHFZwWMQ/RTIEtqS8vHDZ/
NZmmCVcgRUmU2RINRFTUtmcuPDLusPIgkwPO1Ru/
VHS8HOmMxPZzsFZYRwHd4WQUwbRbIXBP2+ECEBaHtouTIvSMPGYDgXWLsXKx4LI
CbFHbQjAHMCI9ZrtFJKxkAz0Geoc81FB5IRUzaVKnyWWx+shAop+d8BeDtPb2IbEW9/
s619Jfn5kpPZAXc2zSgWqME/
N8SInJGeHrDKIZLQ3xBeoRWI4ulRHO070GtFRqbrgjlPHJ321zn1Z6cvgKSXjnTelLzfS3is
7bgZWVdBOrtg59jc5SQ7u7xwYuNmkvtltrdW7n25yyMquUo+8c8/
sG9e61xdJ5tomuaKbLmgzXBInfEWVSURK|PTSAqG4w65FsUdOSc07M13Hig5/
dgXhzZTyVES5/
oWC15enjLIJYRsNW,|jyBOvfk8Ny+Wcr64mV+6Fw6d+TwwPwcp8sfitmZKcrUHsn5XXnpi
XrrMmXjVOAy0GcA6pFQjvtifo5SnSBSSNTV7Y+LGwIBdIk1+fSRHe7TggW+u9D2RwJg/
gdr3BUUI+TIOhka6axQdP/5sq9dY 7wXWvk7Bliekvh+réwby+S5b5H620/
SiwXzWO0pf9TaJl07c5PvkyFCI91N45IfYnd880ovN4hj/CGO8Ycaxh/iIGH+IY/
whjvGHOMYf4hh/iGP8IY7xhzjGH+IYf4hj/CGO8Ycaxh/iGH+IY/
z5H2beRsP5gyvOAAAAAEIFTKSUQMCCAA==" alt="">

Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUQAAAIAAAAALCAIAAAAGW3RaAAAEUOIEQVR4NO3Y7
USTSRwHcP+jedMYSZoQ8dJEIRBCPHLNpV70OMUtoz1pHS7dibYWulD16pQ/
a7rvVoT6eDIplVbrzYHpXcHwWhUtRINeTXVNcy/60uHF7qt9eS/a@R\WEIlieP7CTiNwyz2d/
0Z3Zmtkd4UcL5gjnyxSuQeTAABpB3MAAGKHcWAAaQIZAABPB3MAAGKHCcwWAAaQdz
AABpB3MAAGKHcWAAaQdzAABpB3MAAGECVelDKTASVk+I5/
+Up29RRLXIfRrY4VO3kmVA6c2gACvPGywgceaBsnwUpdHAHRCke7AaQptOHAOCI
3e5SasnDD5APubobgLvDuSKAIfrrwACyi9G5f1{Kf668fx6dy1V5bWzZhqJkMsOHb4Qcop
zBwIyU1rFEFZ2rB8h7bEhxxaF1+CsSTvGixHNeABFoNzXorzfoSAUOEePvqlkBeXGZpr
gppJAY2DeA/
NvooLue8AY+015JvRadDKbXtbwL+ZnTyKe20fWloeJVPoVEIILCVITyuk61Wy89quqq
6gHmMjZcQgJ+kPNCcFXAGBUSAIFWWOO!
viJUVJIOL2U57kkijtC8DjYIPepNSgKIE0IstbNpNGHaZAFWPKAS5TED|9rOReFFK|bvrlEl
w+ZpunUmwddDwTSS7dwASTN0pEMmvteQCJKMRXSwWtO5wWwXXB2K1zxGSQOyYNIK9Z
673Nus7ASRV1M83q1g3a8wWE8XmAzGRACVEFwWMvV7rRApmInyHJrSEAIQI9Pb3qgiQ7q
N72u48y4gSnwo3QgQsO0dKOASIPtDon1Ib5SmSHMKDNErXnseEOBj9NEJ2gKgkNRrrQava
z3A7BBT+UIsd3UIAO2915(e70evo19BQ3z2WKL8BKjalbXk720RTI83tTG9a+NjCeQH6
XTUWRQg6/1j86/GJI1XX/AyTjbanSoKcsJOuyLsC0UO04qs5yLL5Q7Z206z/
7BUDgAZV1x3fiwMDE!Zdpg+8syucd/2I1x26bNwOgDE+LZq9Zp/30DWelL3nJu4FG/
s6fFOqtC/coUxIuCXDzY pKPVDmeTztrmefxk80VviwD/9FkMx91/rgxvSLWAMr6 PPF/
MC3Mxdx0QEViZPFLQU99UX35Xs+LcQAYOVIAgqIQKd4WoOCfsHkJKMKDvvcfnSCWJt
XAMM2gwANnR8XeDEfcpibg4dsropSKOABEdY 7pQY8JQNQ4sLyz8moHmA4qodnwVKho
fDXNN3XZIKNgQNQhO+EIFIRc/
3lele3WJIICLOp8MNQcojrnTCbh1kLDUdrTYe4BCUg+1medWy70n0OoC3Dy5QQ7GCxJde
FRJIQkiMetssv4beCDsrrlYAYdBJAujy5bfoU6zYeDFROT4VogEONB9frfGORcXrDfgtcm
HOQyO0A+ZCj8gSx/RLOyZx7RZMIEG52q3HYF4CkX00OAhh2seJ2XadlIACIpObzgyH/
vkPbbqtrK9zwaA9EgzREe1ZT9tZ/kjxvFTurpNOMepIQLX7s/
surwaAdljzRBtOPAk9ROE2u30QnHEiI18MxYpzg36mrfdhojBBEAhcvccVIF6UTh/
02XLO7jNAZRIDto3HUMBMVFx+bWS6IPHZGcrCEKPLGc6rgOgku5gRJV5M3aA8t94e
DEDcp9gEQIjdtjz6Z10ixIVFTdhQ3KIKYNoAG3PXQQRuUXIdEKbMQbtZ5A9MDGf3aAYo
fYhOuX1biSx9ipTPFVIgQGECIdj312EKDOQ2yVF4X4AF3PTKR2WI6NAJOBuUsSOPMLNfBv
pPaEONOVKYtufH2NJS6WmXnd1mFdWrltn+SLCpw9TUXZykWN+LHewEtScdPbu2wk
Ck6DAXF5IPOIIbEYAIEGT92n8L70J+RqWjlTa7yshciZXPF6mx73Q3WszWJud4v4c+p



gXPWrpbnPGpXewEte4Bg38knz14fyDDJ4/
8H360InUwWAAaQdzAABpB3MAAGKHcwWAAaQdzAABpB3MAAGKHf+AWGBC7I01fPuA
AAAAEIFTKSUQMCCAA==" alt="">

Question: Given <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAESAAABDCAIAAABDT2/
QAAADZOIEQVR0ge3Y30tTYRgH8P6j90YIQRh6EZJUEKEUkop8Y9HKtd6cnunxnPlqu
VybbigHXCydpOmy1XJImqglGz2GhIJMWitivLCrXQwv9l69113MVCikl4u95/
DC9+JwLh70h5fnnOc5pzCh+s6puj8BF3IhF3Kh9sOF2g8Xaj9cqP1wofbDhdoPF20/
XFjflIHOjQx6DZbDFIpyxBp2rRZ0JiyF3r3Hy45cyxYRMEUEM6HZMOCTMzRghLKYP7uT
kHtQ6mdORCcHVhIkSNUmMxul2JCcfHNNZOta3FPROLYY 1iyAYiAyWGOVXuSRYN/
KV1IWXYdIIcWIrGugDOAEIAJ3ASHPIRMUYVIYScYeGyzDAINTNRYbgAhAt/
xJNZJdYeHdkyY021b3MKG49HXC72iIACAY8BWNONCGZEAD1TicPGK4bcNgBHEZ Wty
LbwljJ95E5y0gV6YONdCHFM1mhCbeGNDKGYOHx69qLZblr8WVBZh2EhofaRyfuSdPq
mvcVib0JB5/
JOXnORpoU1CRdgP1x4kHJudMjbKjgM1mBgf4UpzYXx5Wx+93ai30SbCSaxcblOy+fVoM
ly9whQTVyBQq8C3/
8freFPsGW6zHxyOusyXcFPvC47vOISIDKHSNKpjQQiLcAFHH1I+6n1JNhBQTistrSWYE
7j6dK1INMaHxcBNAIpk8y7x+f/

WXi2PwXYfXQmsMbBUIX2XL2ImBWptUvbOyeY SriBhB1L\YW2WOC8CD5tyHjX/rQZX/
PnnAj5gMQXY/
vYVJJIRjyaaEJ1wuoHw2D1dgzlhpvoPzVhHYV7HIY3VRrw6499dxG4F40z34QqhNUmB
L5ITGghpTRCmMzGSU7vIMC2M+m3AJJoTRVzKir2eQ¥gISvV/
+loKC58WriL70efYFcFzKZRcOQhPhVC7YVhY 3LYE€D887AulW6WrkbTDghZeGzgKDu
V/zwlILULxons3ICM8/9AKJG//vpkB1A1BbZ0oVWSMN/
[j8CAAWUIOV1Hz4kvQs+I3dR5hVAWG+eQQE TKPKSd9tzAurA7D6X93MC3fX+iWfaX6r
utCOKtkCoZhkHP2hsR1dCFeiHgBRO8|SXERN6LhvBC1nVJZiVIgzLzstinZRvhBYDIY8Z2
57Lkuu9sBJJIg1lWhbULF20/XKj9cKH2w4Xa|/
6FvwCD2nIVVPLX6AAAAABJIRUSERKJgggA="alt="">, solve by finding its derivative
Answer: <img src="data:image/pngibase64,
iVBORWOKGgoAAAANSUhEWgGAAAEQAAABKCAIAAACNe2WVAAADAUIEQVRoge3
W7UtaURzA8f6j80Zag4awXxgbDFGiMoelMQZ9yRbaGnNNHOWOxx26¢cFCs0suyszS2dplix
X2YNSWGNVouEOwWTxXvoheeF6dI3tRcw3GCEwW7xoHvg+vlcj7nx7lagQm9ONVXc+Ao4
hmPKK45hNY5hNYSANYShNY5hNY5hNYS5hNYS5hNYS5hNYS5hNYS5hNYShNYShNYShNY
4pcsmNUNvr4Sa9uQp5SvEdljVFXBYM4mMjh090eAwKG2eUyxig+DURVY3FM6NKEFU
CbzZbt8Meru0OPIKRW5jQhW/

A8DerrXyxe@ 73e0xoErLonJaEkw61Qtmqlbfp2031zhD4cwVv5gcGZ7s+EfTvw38PWeyN
FBtmMZ276jMXGTkludO21Y2TSgm6pTY COyhlesZS05566pxROQs3dpcVITiY2IzToACc
v5KIIgkHBbENUjWI+5H9kj4KLOdihsN4tD34mN2giKA5kb/
TpadQTOhh1KORXxqVswZglfzVEIJ9OmMivFmMTmMKNgolQKTp8vk+Rpo7rbrl4/
TVT3MbodYeV5vdUW2W309DrRaxyWyt98YPC51bkTCEpj6HGtovtvDewldYfguTiO86P
dKPHCY7xhclQNebjWizgIDgmbryNpcWc3ow5LBgbQFRGIEKCEAETMHz12hUcgpRF
ROKVDbkFIVAgsqnGrf2isLCXKuFkTryuvvv6//Xs3QkmFJPc/
FgvMEYyHsxQTmtpXdF1GAFFD40OdfD1R8Gojq/
AfpalpukSYT1+tQrbT3Z5UZuUVAwWPXp8rgXJgwAml+uSEogKRRzZ3Tz0pUDW/
fSEHIK2NPUHS5hXvIpNCMAXX5ZiQg+XJIX5LX9JE0JUZpwYOGDAUTCgmZ/KMelLfj/
NDHdAICgjioBOsguvgtygwKnU57orgjKuRtdhZb8jfpTZUdfdqO30fOUPDbGSYUk+y816
E1D9ajEftCqFVvemAbfdrttseOi31yGP6jyTE3vwiO4ZgyimNYjWNYjWNYjWNYjWNYjW
NYJWNYjWNY7VZhfgEVWINKGSaSxgAAAABJRUSErkJgggA=" alt="">



Question: Find the derivative of the equation <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAIWAAAAYCAIAAAAMzZCWEAAAFKEIEQVR4N02Z
308TSRzA7z+al40nCRciEhOPCPHMae4uwUQnWXPOXDLYH9QFrgXa7tFrlIRWuKZgm
YDmMmwyO1ZLVdO6IGg6Z1ilFV7WZ2k4aEPDQ+dp3m8hxYEBV3LFujcJp+n7nZndj473/
[+Zz7DhOowxmf73gMdzdGIMogulUF0qQyiS2UQXSqD6FIZRJIfKILpUBtGI7g3FP6f83/
70afneWm8LTRaq2xzTUvOrc6/y2X3vBgqE4HW7u9180FCtyG48454N/
CMWEZt40C7mi5s2xK1WZNXYJ/
NTrgyA1HNnQCaPp65BUM+2Zv9CEDfrVWKCc2mwg0G0Z3S2CurUIBN9Jrgxen0/
veEYKLxyrTNMzyQyGNS9LsQ4Ae8L8gXYKEnd+nOuKYBmMU2p6Qkvx3tOL7WPbLtFkdt
4U4ANN09dWWLRO00INSUsOIwgLUQsJoQHWemcwuHpJZWRBdAAIdOb/
19TR6TTgK+hgvokOEaH/pr/
PNMWOH1kKv72DU5uvVisyEXgB6fotkIMCglKOsctF6MVThNQzd6Gg3d9QY zgAidHm
2eQLGgsOGMPsSITTNbkYScHUZ3rkeolnwulvV/
enJkvbKMP559svvQichgi48PPtBoB9gQWAG1J8Df8+d09R5bek50wtiMA++1pighFhWme
RwA6+1JgHpgbHXRbrz96kFHMNk62GQJ3t1x9bjcjcHkOqtEgsCd10XIJAXMEtSvnbCN1rs
UAAOW2/IF8awKi81MfDwnJsQEOIrDBIYNZITcEPSYNI/
AeSc2mZN7maOkSjjrvl4c71zDbHBfuKxq39SJy+r2wgZFUivOrc5n\¥9aW6PHH71guS90
PwWWYvrnN1Rb/X770fP2sQzVgHIVMJIRXOx2/0AWi7GakhqYdHS2S/
MrOOOChvxamnCC6CJI9/9zFP3bjYaez6C6/
fUTm2IRo9DLZLJbaVuYkmWe6iDieidmSIIP+tfWDsn/
sohJOVQDAtB19XHkGx4BXggqoSKaWJrwAonOTa7UNRES64X6QJukrnQi0+0cKtLzyQZ
d7Weu2ZAloknR8WGou3m5AXMeQf71qividfCSHCeUSua0UYHMJIoVikx/
5WIYRr1e29k000JjQb89e9nUOLIkSIXA7Imu+Chi86C4LIWw7PfKSTUS80FXG70OGhzbtg6
ODNEQNQ8/
+7RQUZISSINTMDOuUYkIxOtwMUZ13VvsQuKrP1FzAlxy2heU8xYQ+mX14b2XLDZOD
AqgigoKpNgaVc8Ya/
QPEHIxBVa+rV3517NZQaPQ7RF1KyOIKL0dvODaOYrDitDmG+iEkxOi6d6Q3dzZVe8/
pQNMJCIGYGT/
gX1DRXg2sqoZgoA73rb1t4ZrdWZQEI1c1+07JUD21fuX8xeEoMNJIXrkHg7jwAvugOjzR
ABFJIIxco03+G0qg9usj93ur2R+%/fUUIUJHLW5TyHhEKzOgkro+mpdeSEfH/
EOGNnvgL5RqStPhjp5GeyRO1S3BrZTzvwzdW44Gq7sF/
WwfC581mpvevCcv++xxtWEENVmMn4vy/

kcRyOQ9MBI9A1DSAWI1 DsdLiXQ6ANCcJIzuxkB82hUo698b6SWN194mWJISHPFaAa8
2LIVAVpY4aGmBPHMMplYnjhVQcK8M3sjNd 70165 KKDQzHyoGZpah9VVb5VRWLRO
0s89Mwfhe FWNsYEXOPSgcG+kFqOjvmMGx3c/
eVstYttkchWINEOPL56IVSsQOp5AWGICTINRWTNjbOC+R87usdeKOmn3X/
SUWdHK@A8Y1zQBYIUgxkrRYu89P5fa/

JZuT X0 3y+p9qUpxuwK5W8c6hyEMm8UebeaGwUMy71/
4eulUEQqQYiS2UQXSgD6FIZRJIfKILpUBtGIMogulUF0gQYiS2UQXSqD6FIZRIfKILpUBvY
kRft FAey583XAAAAAASUVORKSCYIIA" alt="">

Answer: -24x

Question: The concept of Derivative is about
Answer: Rate of change

Question: If <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAIYAAAA+CAIAAABhgvTeAAAFOOIEQVR4N02Z308
TSRzA/Y[2ZeNIwoWIXMQjQjxzmrtLINFI1hw9sQz2B3WBa6m2e/



Ratcl1RAMULAcCWuUT2r5¢cpJPQo0vWMMpGovg5MOPPSh4aHzNI/
30KKgousutVOd5PPUbXen85nvfL/
z3XO0IEwZV7Kv5CBivVWZRQB1NCHUWJATAILMGUUAdTQh1IMCXUwJdTBIFAHUOIATA
[IMCXUwZRQBINCHUWJdTAIIMGUUAdTQh1MCXUwJdTBIFAHUGKNOI+zge9+8rT9
YG20hWeKn62SwsbisOKu5sPABGUIrT2BcYUgRe4Ql0+88y8mCJIPsC2U5X/
psICgLxI5SRMH10g5JEyMkBOzfjzxAuXB2CHPBd2yAlklw60m6Q3GIldVupFybPhAVOIN
Jep/
UglwgStz9k8Y8PJIAsKIgAtywrD3SeVSPOTkz92Y0rGV1YeSzLSXF7y+p3r3hL1HKTSEU
5Nn21oprih64EF/SNM0140SYtJogA2e+ayOm2TXIlyWXyEtzOz/
fICfox+Bg0xm433BJCP+99EGru/h81NV3+Jic2/
mrhbCLAXx6f8ukqycl+HIjPxjWGSPhKf7Ohro9Fg5gDkXPe2L954yNkkxR4UCMKDb8piTB£D
BdU/13pgPSgNfXzZ1fKhzid5cebL/0JHoCwCNjjz5VJaWgZOKEK4GCvwvl/
jeUJI1dkAND9gxBmKDInCBADjgG06p8TI117Zfv3ckqiw9nOgzBmzuuPrablXd+IyagdKimx
NIOcORLXeZ+3KFnsNUAO9BN/LL2aRwBPz74/HFOTwzyA3ESuTC/s/
ELIY9K8d2IlUkkvLgs3R1lisect6uTFY+abY5ztxW9ljJk+iJNzacPVJICUGFjMbuxlalgQTO4
VeIm7ke6La5TdkejNeC7HemOSSetYtul5KgKx8WVD3HACb+0ZQUVYWIQ+LS5syl+D
LSV6e9HDAJ8utLLH3rarOx/z24/kjv9qz0OxBGgq4B5I15JtrMr+BgD5genseg 70/
Nbe7Q88LSGcMv0IOeC6eD/6rQASWROUUQKSTNS5AE/
NbH4sJcnwUfedDM5c61FcV2C8SCo7PnC51/
RN3C5TqTIVgIWST3QZIN89Gtigs6MBpxDNIOxQXu4o0b035gDggCzP/
gCr8dAxbey7IxQMNr9bviuUc5M6H5T3t9uz+35ZFy7sjzykm ISVIB6U+3hgqafOu5JzbKA
9g69ujDWrQWSsphlZrulxAmKBNpBbDBu7D33Y6qROK&6BEP2CJygSBMHizcvbW+4ws
zlyKnoQSvhzJyfXIlUCTonVunqlxy8ffUbg9KTxwB8E#/
gjpKSrHrzpc+EF53Wh3iUgnhUmzKf3IgfDNf/
PuXRwsEYbI60310sKzmcR89I12CCsDI8SDXWAIO#TgJBFe34srl/
kZg+9r9q8FTZrilUrkmugTICZI7NtEKIADMIZIMRO6NnXZ1LcX49SEtsaVPSbkOFg/
Z3MehuB9UJ5FgspWINB67ECaJcU+zshl
XTPKMYTrQ3d9sjybwlryDnVSqlcLNa44mg7sN/
mKfiHQazS2D3mPnffaE2j50Dc4lgPBfNLIWQT2SoYMAtoysVKdtXk5ala2jTnhsNOPOPB
HTtEalKakcdAWZIFwa9105QW1EayAn+3lg6YrR1wbejbXp4xgKNH1KEIOC5LtHgwrJL
oVbgal9TF21ro3iigUHfuGZp+¥HIIRoWwi50Ox6SEbUpKsQnfYYPj+5+97Rapd2atijdwQeX3
JVUqgH/acYtJogC3+lOYSobMCYfcFkbpDk1/
aXaEg85+Z4bUzoyX700WRIWax9p2fztR/
J7uTSkfZun++hluNIHSIBrzVuaST7QII8ocsHgjMInwdMCXUwJdTBIFAHUOIdTAIIMCXU
WZRQBINCHUwJIaTAILIMGUUAdTQh1MCXUwJdTxP9hfRbUu/

JSXAAAAAEIF TKSuQmCCAA=="alt=""> differentiate it using one of the rules of
Differentiation.

Answer: @24x

Question: Differentiation is a primitive function in calculus
Answer: FALSE

Question: What President Obama did by tracing his origin to Kenya can be likened to
____incalculus
Answer: Integration

Question: The concept of Integration is about
Answer: area under the curve



Question: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAASOAAADHCAIAAADDKZLPAAAJOKIEQVR4n03d7
2/
Tdh7A8f1HfoJOQqgEdpuQIDrQhDRUOWMKW5NPR++4yjdCWkohJKP1jeNXWIICpB6UI
GOwXKSPZGIOE7BDmUajITYgMTz1UR9UPKgf+eE9yC/
bcRK7dfuh5S29H0oQkdr4Jfsdfx4G8Y102AFnvilBAABOC8ugQkEeHgDW6BOTRISCPDg
F5AT0sZpR40VS7XCnEVF1Rda0oP3RgywjXYSmfUoyy+KCBLYYOAXkhOizIlU4qgqK6q
ugKIkRX7owJbB/
hCQR4eAPDOESNEIIBOAXIOCMIijQO0Ae3y8F5NEQIIBOAXIOCMIijQOAeHQLY6BCQR4e
APDOESNEIIBOAXIOCMIijQ0AeHQLY6BCQR4eAPDOESNEIIBOAXIOCMIijQO0AeHQLY6
BAI7vW3c18e0nl08t/hpUMgiAféwIim+/sG+P+mKgh+aXol2/
XQIhJAz6BCQRoeAPDOE5SNEIIBOAXIOCMhbU4dPJIncdvpj54eXD5zWv5pfrNOEREMK
aOixmFFVVOU4NP6zfRIDACGvpsJRPfzj5wrRs01rMGac/mny60LiJDoEgnv0jee K3A40/
ge/KEjsGTvzh+rNQK3n87cP7S7Zp22ViZviIrogOm+gQ2FiLZa0/
na64rgRDYEPNXhtV40WS+006BDZSNRnXt6fvPnJfT4fABIg+dOjVil+Y81xPROCEVI6Z
zu47dvbAOMh76cL4VPaDIWOffvLgVLV+hOohRofAupgfGd+RmCwu2eblk6Y 9V XTk8PIG
62qfqjgPCxelLd/96c95720EMgKr9eHj0zMrdiWrY5N/Gugma8/
N7tQuauNGEMzvyx0XZYOgW5c34DpoH2p+xNpRT16aPplwEehQyByS5dSugKOjv0Y
dBE6BKKyeP2KsX/sbmm5rGm68um14rJtwvz/
8mc++fLX7svSIRCRpzf3qrrSn8veubhd1ZXPZp5b9sKTwt4jmidzLHsvSIRCV6rnTwzuHx
nYmsuenru758+CepLFrKDv+Q++RDoESNEhEMT/jvINZXu6TH/
2itPw3ZeRrJ80gQAWiIwfaz1ho6Z0Pg5626140gQDmJt49%dedx47+xMJefJhODh+700D
sfHBOCVTOrXvn9RPOfz6/cuDDY Z9xrZbimdAIEMz8z3teivb4US5TrpEAhjeW6gX//
4RMQz0ho6BEJANPX5NVXs+V7n5cOiQyC4F2RHWA9YixAdAoHI9dPtDVVeO35qNesl
0CAQ2M75N1ZXRe9EeHIpOCAR3fyKtOCEg69GkoajeNgNMh4Cc5aV7c9/
NLkb8Y08MHQJVAjoESNEhIIBOAXIOCMIijQBAeHQLY6BCQR4eAPDOESNEIIBOAXIOC
MijQOAeHQLYy6BCQR4eAPDOESNEQIIB@AXIOCMjr2WE1GdeVeKEKPVYBgC6NDQB7z
UkBe7w5L+VQsXzUt27TKWulnwdk9QAPEKOWHOO0GsXHGUCIMBqOgQQrTDz0kohxq
QUWAEehjg/
rfATUVLIIP3RgywjdYe0axSiLBx3YM0J3WE3GMznLNjIQBKIWosNSPgNw3gJYB5zHB+
TRISCPDgF5dAjloONAHhOC8UgQkEeHgDW6BOTRISCPDgF5dAjloONAHhOC8ugQkEe
HgDw6BOTRISCPDgF5dAjIaONAHhOC8ugQWAdL358fO7Nr5NInQyO7r1Z63p80gchV
04mj75+brVgvRodOpf/
gzV6LOCEQsYVSdrg6OPD1imnZC4uvHr563XMROgQiduelYUVNvVHfgSjo/vrs/
PTy30nMROgQIljNQRIJ10oxSWz1qQ2PtFrETOEIjZx9qiiGp//
ZJv13yIMDHzd¥xE6BCL2aNJwd3hy6GGPRegQiNgPt/apulaOTWvI+rnEtr//
685yj0XoEFRiNyePCwWOjf0ye7ktkz39VODhK7E8BM77k8N2/
ZprXyzXR2z5H0gdGxnYnMxSd8TgOsh8rNvUcy2Z9XTOVROb/
0ijr62Y-PBHZm6omVyvXZ9vugQCO12Ng3dXjQt21wsHIB15fit2cW54RFDm/
r+#aP\WSIfAGSyMb1P12NWnC2tbDx0Cqlc7Zf/
XUu8jwO70EAhrZebfmf0j124sVpNxXVEV|C/ZpmXPT3/
Xu¥x3q1lsnHQJIh3T+s6YpmjM1MxIRd0a8VLdAt8WdaOpJMBPhrlRYdAWES3Lp/ekRjbo/
8z0VU40BB//+S5Dz49n7z/
y6qPEUkQkEeHgDW6BOTRISCPDgF5dAjloONAHhOC8ugQkEeHgDW6BOTRISCPDgF
5dAjloONAHhOC8ugQkEeHgDwWE6BOTRISCPDgF5dAjloONAHhOC8ugQkEeHgDW6BOR
F22E1GdeVeKGOvoMua2o0qWbHNSIGm6rF8tiXQqq4YZdOq36TUEN8QL1QKscYTL+V
TSmM2EgV6Xxxj1dTwdvli63SYaUQUzO5xn1K+VQ9yA1Dh1iDzTgvbXTovPING6jAMR4d4i/
XusJRPed6kHVt5YzbYaKB559gFUj6IgLU7tEORISnmTYpRNouZzjvSsta8Z7xQanXY2lg
bs1BF1dOP2trEc4buN5KypgaSxUJMdezGPQNzvw6+z8i7ck+TjuEpaibXHL/3gTxXNNI/



b1svbGHNtJc7XRH5LwIqgsqcNWKkMVM85pmh+5NxLUTyxmurae+HftuT8WMg5z6Nu3u
00gxP8wZzZzqKqgyXhz+IffmltPsJhRPOtxzTY7PiNXe87LnvHX22su6GzPebmseUflusm5T
oGdP6IWUYdtdy71U+53ccd63Nt6jafMhmoy3rYjrRRioTrOmTHWdim2d3P3myXmjPoAuj
0jg1lOHfuN3ReXfoe8L27jGM2bn08FmtcZ5ae292RVAqG8MOW1L7Ck3L9p+XuutqaG6vg
Tp0ziQdagu27dN87qn3fEb1Zds79B+/80F90+z07tN87/
C8WfgdMGNTCdRht+3Pck29PMeHvksJdNhx2tbeYccdS9f3ow3uOLNOOtzOANnxe2jj2a8
0ZbR+VvNyoK0OgFvchs6L20NWLMFt89LW3dYTY{rNS+lw60myHmLjp8Z5AzvdhOow7bq
2j4CcYj8c5pKIdZaYdsW7Dp2rShjunO/Gr7DdfgcpkuHfuXjjRfw/
KHjU3LHX3mp2Dyg8j9v4VyJpw3nYVssX23f67Z0+tw/clem69SCMzy/
PYnjdiLzKayyw27jtzt3aPc6b+H522ks20VIxBtM4jy+37zU/
6AR4fCtgM1K5vs0O7hN6nnkX8NYR+16b63QC3wjB220zfr8U2GroEJBHh4A80gTkOSEg
jw4BeXQIyKNDQB4dAvVL+D7kuKHpOCckkUAAAAAEIFTKSUQMCCAA==" alt="">,&pbsp;
<img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAESAAABLCAIAAAC3LO29AAACZEIEQVRARO3Z7
0saYQDABS8f6j540MBCHalGiDYgRta9Be+IwbS2jysErNMtstvU365VCxQMo0Tpw7dBgxe
WFulZQyaSS4XfjKFOcvvFf3ci8W1Y|BB0o939xwPfF/
g3X3uBeF5v0sSZcXYdWI+BVRIhVRIheRHheRHheRHheRHhf/
a2Z6wbR0bZz3jtSdiFn5F92mJzWp4gAJE13dachF14XpSjQigkQigKQk2FB/
G+0eXgYaN4/
LufFclgQj4liLgMmXUXjSXMr7FD8RNRVkS5GeXmHsSP6pitCotiw9so7fdPuvHF++x3d
QUMHGT7X/
Okhpr7jbUkRZKfPB2573eXw8nGOloeYOY2PZMubD6kh¥YWPeBiQTeAdSVsOqdQGY?2
$29Y0ZSzQMReErAfWTVh+1M6MjgZGHHN3GIToW. RkrosbRJI5Hyer5B8qJO0QLKIIQt
yPOtxSxkR6GClyGYVIVCORXJI6Tz3zcquDfEgKjRHA3JM58R2gKSIEKsByLzQqFezjAznC
v7A+PSh1ndxy7kL13/21m6MBXDcmj5T5c6gNAXXtVZelABI/m/qnVQdY XMjzN3zz/
LSDsMg8HydIxRRVj6szT/
ePjJWE8GhrACJgi0ZSy2alwMvssazUDxHRY8Foo+NnV2cMqwtz716 XvOcRWUyu9j919nu
5PIckdKjGbNTNIiq9j4dfJZ8jiWrEFwldzZxga2zAJm/
zI9XWCYTO0I9daDDguFWM9sqnTxOEEG8jqc1ITH13H1hDU+fD928Ze8vbnktHC5Er6nL
NoLrlbJhiy2yEZLelVnhJJgtellhTRI9PJELI5OVT TCwW2PkVXCvhiX/
gcjumgzAJv78bgghMvSlo7emYiMBsyQQR8Ob1INQmMzC3RgLjC3cj3MAINO3Y 1ihKLVy
wpdCU3cvnvAJdRwVkh8VKh8Vkh8Vkh8Vkh8Vkh8Vkh8Vkh8Vkh8Vkh8Vkt8vFIs20U2M
730AAAAASUVORKSGYIIA* alt="">is known as

Answer: primitive fun€hiom

Question: <img'sre="data:image/png;base64,
iVBORWOKGQOAAAANSUhEUgAAAQYAAABOCAIAAABNKY/
eAAAJEQIEQVR4N03c7U8a2R4H8P2PzhtiNCEhVWPINVVjmIT3bjftppSmTKFréanoYB
EUWIEBRIXxouz1EbtW11JZ8WHVmM+rWYK64enWLsWVD7guyMb6AV7zcF602cxUZZ
NosIVi.
YyeSMROHPgO+eZL6LIFADg1BeylwAAgkAKABCASAAGAJEAQAAIAYAARAIAAYQEA
AIQCQAEIBIACEAKABCASAAgQH8KjhZmfMQ50DqzvSt/
YcDVR3KKkEmMNdBoW6073iZx6QG6MHcpeHNkf/ XnleU6dj/
LKX50ggOxKrw6WYIPa+5hwEYaJwzEVKLxItloi2WanRK2sJwgRmOIiF3ea4OmiORGH
GxCFtM64lleLG1z+f9z5HcRaJOVWMIlTGKIXGb+ZYh60OEPPx7KXRKKQSQkKR28kIv5u
BXSWMoFISI7eSIx1sAiTr8djspeEZhAJyVEbideNDwnCZsMafNgXgUhljtZI7E3ewAThD
k9c7pLQ7fOIJRGIYYIMVIpN/
pJkQGKkItOdCBPU4AVKXRLKOReJONPunxeEDy5PeL560lamJsg4uSp/
CTOgNBL8BQKLItQxj64VRF4k5Rt0/ds7j]W60NEINL2zTVE4RJ9fCby75CrN/



[+NujhhJr9z1rt6 7NpiT/GruKk7mfNhJiahUi8 THE/

LcxQZj9LnjZTzrkgzT6 TBaCHNE|B6loyFeBWel8mn/enrqtlRdgwi8Lyn/
50uz8s7W5+LjYBDGsStt8a2Tn476pqFqVMxK70yv2p45yTYPivqG4Tq9kOS589MUEW
9kyHRLIIIRGIUBRYIKwzb592Vel/+/
VuOWtmpT2halJVH]ChdTunrOLnvK68SFBam7kKrYkkklbq6Gnzj7NsfZSbPr76Z/
VXXUfORKHb8c5WwHW(qcy+0d/
IkWQgmkysLfxQwegUmJRzG+J74DRGIjBgRjjnL+j6aPIxOxPvteoUxsm5d+/
C6V6Qn+DK5I6SpzLXqlIStRMw/vyH24zjc67LgEdb/Y3hDuF060e/Qlaxj/Fk0/
hRG4gDdSFDOX9D397DYzLcM+814QNfwtDNdsxPwWKDCp8G7Jfe20E1GrUkVijsGdnK
h7YmKsQ48wUbqWzx4fCHotCDvdB1Icl4WRWFAzBGFyrXsll+mmYVdDQdINEMJmMKH
g40aBtKWefd0c10LxgYMCNsOC19LgMJ2Yio1XMisTozrHE6YyxiCmJZbzj7b4p8i3kt0JEK
+CkwQ4+0673sf9FrQk4nlbK6Rvkisj5Zjimorx+Ee57J92eKq0hrveH92u9qqjPYy4naFRL?
RaGmCaTJVt9hLtPagRwQxndzxsmDil2muutF5u8lYYvV5xrmgJkc1Md0Zz482JkdaTd9
KZEtkJPjtOqTIuXjuCbNI7N2rN/
Gs7q3URSI84UJYzFaO+KDTUDmMwsZtMhcadfKWMdOmMRUP5PyN+txGzNIN#MhX2dx
dhcnovCQc8KnbUHO9FD6a/xgSpPYPBAWWGdcPII/
e0zcUZdPXsyl1l+x4uRUQg5ISGYkVrZogrkuZluzgAHWR4BfpUMbg2H95:2106jAVTaameg
38jG3wefdN49Dg75n6P9uTNxiCnjxb5N9iZfDa+0mJP3psbcaVxOjRa?7ISGIGMTgaAm+
v/
rphLrUgMXGR2HXWmePk5BmORWLHyplst3LsWNkPuz2ZveBMCJIOKgeNOcNBroXcN
ZGHQKu3t51yIX1iQW+61mgNJzipsWVUFWFdAY J2hvv+R#FE8ABgOINOGIBDmIXZ/
tJALtkTgeW2exIYNf18tiCMWn7nQwzU9wnZ2UiHAZJL#ITEGYrIXJZdVxOndO6U27Ua8
OZH1HoywS4sfWBS8tNRgfzfls/
aXTS7QmMINGXsuPORONIjezjHMAQ1+IJ7L+42Dk8mMYyN9jpv2mSD/eP2w/
zAVTaZeeNvuPf/
JjnFCTNZbo6LholZAmI69VyYkdXvMzsGe+MMnAL6pyzK5Iv7RFVYSONS8CKOCaxMGhF
mCg7Zj02FmFyd+ropBbmMjaULzjTyXO0lu80KDBBttnFYVuRc3GX75tq+rmpziJMOPeB
3WQqgsu6brrovuz2Zu+z0OVS61KTfQKhGZAI8WMdwgbvXu7zkO6RWN|iNJIfYphculeujKxJT
vQaECWK6+zPWReinb+paqgyme65pd5e1UGO9ZTRXuQKiaiG+YbcaCx/
bb9ab73jn3S5jgVqvOnq43xPRS5JIbEHChrspexnHt84Pp9/
fVWR3KT58mTXOLIpVYIIn6pLhk93Bvi3OV1rIJhVEXmSmOffW7/0r/
6RVUK+O67vF1YQIIsliepg@ilBHYy7Ndd0aXOQwPjvj/arW0ip26U0uWz19/
kC+R+J4T3h2m7RAJIPZQWWVhEjW103tlalBp9IUMQNpvW5S85nWiKxMrgNamXXfJBOG
spH9gU/

fObrQOQIYtQFINVQIE 7+c9gUgQCWIRFIN8PW99sPyYNak0OpX5px+XJhij9bbFXqIx3
RIBHRbxdIIEtORXREXifz7LbPEilutHvyvfSCMMFGwW010XxRDSZ4Gxi+5AQCWnNREWI+K
wfIMyGS+9XQEeG 7ffNNuJAjbvt/kB8rxLovYLUYQCWIREwI+KO0fe/
igyP9t2utmR305y7rnCM1tIVPd1gFYvejs6RCIDWILBH5PIX4EEb76/
6IMFGX6Lkcg+JLQSOgIIEmMd7CTYiu2tqV7DB5cf77XqEOPqO0hz7SZdut/
a@QGRkBYlkdg0lac9PpsH+KmFO8HOHIMJapleWx+tOHAjmYYTEAIpyRmJSPiVw+sbC
18i2xXPVmCiyP+1xVSw9qNWpnKc7meNjPdbCRy3X6932tczNpuhlLBFtc3Edg+CPDdXqi
7XNZFb2a6eOnJEYdO0QJsgxtzxsQikWS8rTXIOOsmwlQAZyRmJ1vF3xwOlafFmjJkoZ
duRfEeH58Z2Zgvi3mfETyjiWOFqaGNM6B1plw2t/
hA+DTomR4DQALtIBIACEAKABCASAAGAJEAQAAIAYAARAIAAYJEAAIQCQAEIBIACE
AKABCASAAQAJEAQAAIAYAARAIAAYJEAAIQCQAEIBIACEAKABCASAAGAJEAQAAI
AYAARAIAAYgEAAIQCQAE/gI660OPALKrY8gAAAABJIRUSErkJgggA=" alt=""><br
clear="all">in the rules integration is called

Answer: Power function rule



Question: Solve the derivative function x<sup>6</sup>, using the rule of integration
Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAGWAAABGCAIAAACMM+bKAAAESOIEQVR4N03Z
708aZwWwAH8P5HzxuyjITEVBcTZ9QQk3azS03G09AUNsueKAKe/
NCbcCsBkQ4vyEKRIig2lJEHBUAOap TMOVTJIrWxvWa3jFC+IL7tW93ItbLXNZwhO0/
7]BP8n118PA8z4fnnh93IxiWw2kxlyRvwQUIRsSI8ghGxIjyCEbEIPIIRsSI18ghGxIljyCEaU
BvHOaX5LMzW,]TUrfeplEEOLvYyDCVOptVNXGASJO0S956mUTM7RykMCJGxIgyDEDEI
PIIRuxFxP3okM7nflHePebz7rAmvUKVISb9AKKPOdgJXekVegwxGyKVRN8wLMewlSC
18GX04ERQqQi4jHv3gmO83mD/5ZxCZ+gzz19aPBNVXeLq7U+UYlism/Z/bHmel7n/
3EduXyrZWT5LFztaS2/
D0640AIMCMpjs580qDmIs4gXGjG8MwH74MKdKT6+ikIQliyWFESjK113SRYiGfLIupay9
KAYgmYpWO9kgKxFpGA5FyOd98kSAlchOLU2cAXHROeN6QArGAMdwIxAPbNAKSTr
Q4a10JxDrvyXo8Vn3dYt1gNwIxGilhRpHtslY6cMXKsnUk81DAShCECsPIn41ckaQtgFi
6 TOIFM7MMfIOR7RXtcY7YPWgDdTLOxOtZUltdg8jraXmcth/
XMB3oMOWTVY4pJyYgArpAOLumgqiViaRpxEqQMgOdL/
C6zrDVIGUCEI1H+G1pNewmxtaeH7NcMeYGECndv66vmAFEW6GSuRZEDVHI9XeeSN
VIn2laVsZjSWIlL+i/RS2STiLkopYBoPPySryj+IwHgAIGoMyzHvVP3IhiWar5TdN32brwe3/
Fet98KvW30I0BTivw5q/5P/

[toJkwDOaBKngpuVj4wY 5vsborgJFLelxivOsSFH5wsW575DACTa9nmUksOlgl5ePz8hH
pEmMBLQ+utq2o0dO5haW6sogAdLr+bMOVNTUSDzbHYMMy8usRFYiAPVE897VKS8jpEY
O5hrn2dbTtiZX2VuupKZWvbWi0CO5FkjWNY 7ufQ002t994A/
D7NLyMnSb8CouFQaW9zeYR+xpRzFiul3Srx14fo5ycsi/BFu2XI7IusIfI90QfpuE/
50Usn+xtju/

6gqN2yAET+duaHXnlbNzUDINIkXrrmTLrO6U6 Y.BBCPIiMBpwWIA9HX8IGHr6RDZR22fH6
rSI7llzwixaHENmmhvbG30InnUQQ1Z6MAL4ATO|YETuuPBwOmAaJKihaa8)lfiGYFTqiQF
3pIDjmOLjr6bsasi26kl4V8hP9eQ164Lak95px8woCPGP2dtIZVnRulchQ6TK7f4nRCJIKF
SGI/JR8LIr'SVmhpIDWT7NY93/

7TFQMyHL9vjhbMdQ+3AY TJIr4uJ3fxcmAhCPkqtthM8e RNfVL5tVVKbQ+29luorYmMNOQ
KWn19u3X+3piEKs5Q16NHEf38gtIQ 7F7iig29vCvu+CRQTiIG9fcx6MIjihE/
kzalrNnrOc4YjqggAg4M3hCHIHOKYkul/
PszBbWNEcUjMrVqJv8sV5HYIawXEHEwlkaUaTAIRpRHMCJGIEcwlkaURzAIRpRHMC
JGIEcwlkaURzAIRpRHMGIGIEf+Bo60gBPYGEIhAAAAAEIFTKSUQMCCAA==" alt="">

Answer: <img srcatdata:image/png;base64,
iVBORWOKGgOAAAANSUhEUgAAAIOAAABVCAIAAAAZjevIJAAAEIOIEQVR4N0O3a708a
dxzA8f5H94QO0YBNELCINrFmb1laTdXGKX8GOwLZ0I34gCxR+4W/
FW5y8WILOIQARG69gFCtY5zimdlamYGgs0dtiw6B6QPoBHPNwDtKMVDcjR+4C{5P0
|OL3vyeBu++U4J+ULGNjOgb4H2AKhD+iQB3TIAzZrkAR3ygA55QIc80EMe0CEP6JAH
MeRQUOQBHfKADNIAhzygQx7QIQ/
okAdOyAM65AEd80AOeUCHPKBDHtAhD+iQB3TIAzrkAR3ygA55QIc80EMe0CEPGJA
HdMgDOuQBHfKADjLP+1VxQddjoguq74lqweT5ixoHWIOF7aYMobpQTu39US2YPAdS
eORRew90CHmMQB3TIAzrkAR3ygK55eTh8bXemnC/313aK/ZvKqj8i5DIMcDKE/
p9+2Lam/0iQ56DYY+66f0/KF6R8xsOPfOVITKSONFMEK2f7Z/tAq9OFy/
UCNb24xDnw3ul3VHOmsri3LBSIfSArOy00/x9QfVPPWKFAMSW/guGQ9/
4X8xu+budFrOa83txhtrIG7G3g9kxK+N4xN7CPPicVODqYvULePTi6Xx7LVWTTU9v9iXdo
tTj/Tu36Y+k0ZPmV6fUPNKpLI5Stux9QVMuF1yveJJkQhUrf8rmV+QmWUHZoXpA/
eiotODWEavil2q92Tc2Tjeol1UGKIW/
i4SudiaSfelhCGYN7V|7ybDLQTmhnMFP7EJqaJxlorxfPIr2PMsTUNV/



OIBloJ47RVwoMoaF5cishdOf/
WJd18Asu4Aq6v7byHXToZnDr8AUZIfzsSagKkeXmFPOmMYWO0soc8flPfrRyRekrPxCoVV
WA/OkIg4Ws1+QC9J+gLN4sGKPWEJrmQtUyDM3aWYI1TiiO3Uelyyej9b5x3T44ne/
Oh4MijkpX5BE70VCtePxdDKsH+StkbenviZXxrPNmSIDaldvr94HBBbP6Vr2cgwx6ULvq
95W9H1IHGgtie2mmtu20kda+31PP92weOE5B;Ib/
8EWPI3ziqdpeOTpHymMjOKWA4qpNb2blZ3M+zY38qddJIrXJ7M7Ax/
YzQcyy7pS9aAfzx+cGvhXb15DmbVw6HkJ49vBK720N27it0BaViezSAXCWUMHVfilJZ
Q5qflzuHR8dRwYQql4Yi3PTQ9rCP1y/
PlgcfKWIaOLrsvGqYmX1Z9jm5AnvzU+YrtkHb1kdk8EH125bbli59usbldtR6fyZamUz608
893stV3Qmy70jLSZ+bs+cbXsPLvpeP7pv0dZ67RhbKYOWa3i/
3v+6Gp7PEUIejNB1dEQt54YSSp43yhZb+G1gA3IOTVReHF5MfFh1ZzftZotu8fSrmcYNIs
+2MPON98PNzdzcplXlo4dkG/
KVA7UHKKSOVcbFIvxU+G8HmMYyYpGA+2cO4untWKgedaDDzVEQVVCjRtknr3R#8kCEmM
7cAPO8fnqdUOb+fFz1PVEVWDWRI4ZQxhE9sxceCTLPspdjkEf1PTiudT/
PKPR7I8YNLo+UlaPii3gGOFcsnz/
APBjyAA95QIc80EMeO0CEP6JAHAMgDuUvBAR2cMAX7gkTUAAAAASUVORKSCYIIA"
alt="">

Question: Identify the correct integration notation for <img src="@data’image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAHOAAAA2CAIAAACHORTGKAAAEVEIEQVR4N03Z4
U8aZxwH8P5HT5YQF5supKOXcWY 2jkSXLbGmfRpNrhHE6Q7OcIUpCFItKBRDKpYhuE
ol9IIMWFJY htpBwjWubJCQXXOveEF8wb2613uB3WoAdzhBPJ/
k++LCPeR+97Ifnnvu7goniDgty5Vzr+BSBXNjbvkGe2Nut+QZzY275Rn7¢cZTh3F1s69zIuC
ffB5gBh/Hr84Y2ImtFdHXnw2T3yqrreglf3XnzA3BJEDrkMvSuz/
PIXchm4C8zQqM1RkDIlyqgZs2fWix9N/X3LRFUS{7/FHNnpNnS59qWO0dmCRAqOPF/
8Q81tLAJIEGHM3GV7V8KjN/mdzZyuClb/

7G93ZbgsIJNDb80YO7GEVEYOxdi2ch+xT UMpOLBSoBvUZFy4S7FxwjLbEZSax/
[t23ataxSU4M/sglepEvPHIdZOi3bpZiHORVEF1z/Ig5JaeUmLhvOCaktza/
5|D3P47GBZET0iMQAeJpAHNLTNXY 7/TAyjbR2Y0JAHeSzAP+xu80/
J9udu5RZmjP3UD80J+y2VOXHYu€JuedRcOovHgTIi+Vpl7GsnDeSbw6pd/IbH/
pVu8Ttyqs+2teyx9+utfWqTZgiICWJI2N3gbGVQWhwrR/
XPBDSIL9XPILodchI53@pywX6eoZyXDCSLHMOMQKazRgpXvHq2t+9D8MSY6UfdweZ
abqyYBtDmqlhDspr1DHAxWSSJeE1K6/ZuSeTerH4BEdA93/
DPK2gX17qcmnuPpdBfGI2wAgNRY pc4KY Z5wKiFS+3NmW+HvsWhbd6/06e AhDd8r4/
vjelm5wailS39IFaRCEYQRUASOXLSTu+Qb3TvIs9+AIwiSXxQWX4hML66URISQQy5aA
Bn6N1GVmMOSiIM82Uu6euCCIx7Q5/sYhinp+55dwWt/
Gu8CCaDR8Pas(209d6WdrzuTeUHKhHfTGgQI91gzXn7m5nQIQCOR/
gfu3bSGlglnd+u+drypVbWQO+IxAojubpU54WijiBrPhWo8MUubumanYfxyO3bQrlIAJGhq
1c7li7Z&:FMP13QsZZbmrIPuBJta7/23qqJ7/qQ7RLtzJ/
IWANGAOCENIMMeUzMm7uOI8TECAWiazYickJvTKUNBVVbI8BLICIoU+6F0xA0i63WIO
EEOMUOMt1748F4K7shZzUTphVOoNyFDVI4j6euM8CIPp8IZbdeXptOhugZ8cnNCTdR5
u6Z9btHvwNUcCM3RnOPafOnaS+w2pP78JfE3utiZXtfO47ACed/
VUFfDY8gACODek3d1m7jnJ67MnEDa5SITKOQvOVpwWeU8pgNAhCBydWN4vnztY7b
UOCCEZpgeK6YpjVIQfmZ1px/
OtcFyQHf+7b9QtYU7vzbzdto6svpJOOUadARft26 XjtMZwvpC9ja/
4sbB303ezA35pZvMDfmIm8wN+aWbzA35pZvMDfmIm8wN+aWhbzA35pZvMDfmIim8w
N+aWbzA35pZvMHdL8zcnizUBZIAIQWAAAABJRUSErkJgggA=" alt="">

Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAIQAAABRCAIAAACC1ZISAAAGLEIEQVR4n02a3U



8aWRTA+x/
dbMI12a2Ji2hgTIITjktW029hme7uYYv26LYg4y4iMApEdFKuySp3itOUpWyp+bDEtVosJGI
traeySkH3ggfjAPM3jPox23WoVLDBXvcnvRZm5DvinmXPPufdclBcimHBOB8icgflblwAgi
AyOIDIwgMjCCyMAIIgMjiAyMIDIwgsjACCIDI4gMjCAyMILIWAgiAyOIDIwgMjCCyMAla
WRENT/
Yenurej2ezaTkU4APUshYn7pWieSOV+O9DFD1DUs9BfiQexnxbkYNIKz9xYgclgCNhp
D0s4AJOZexPqGASGaa3uBj3tHHuUtE3iwnpZwETci3jqYMGEFO0fjun+zTEkxzLWDBryas
JExnt3GUSQg9tF4xISN2yvuP+R1v108kJqG7+/c/+5XTf7XLqizP/
WoVQNpPZKxOsAAIOOrbyNCAkdm+/
Kax+dOSdXIlgY7hDCyC67FiJZGbAMN3YeNtzdPqJrHrvNpgqrNaiSulPXDhDf/
1kywjTDxCAaquU3M4VeZIErrOcmjw6eLrXY9ktUM|PGCr78FQIYJSz/
VUssQEwYOmdczMmC8m9FUTKSyKotzHSOXdQPDMVEGrXsl/
bXLLCPi6QQQAZV]MCOvV+KCrsP7ReDydWxJLDfUon57ySz3p0suY7KYARKBpIPECBOe
J9Fg2Ce5f623952q3r6rhSSdc+/3T4XYERIMKVBKAENEO+3C4NcibjLaNFAKISNPCB/
Lk+oVD1cGmFBS9EeSHid+RBObXRrSOuXOAUZOpRcZSRmMLANEY Bl4frwzaMIB1lmtv
D/
IRVEiI3M60IT96HeGFaGhEDhHQuU40OH3hlcskjSJsiViNm+PIgApNQvunkgte4ug2 TtWylf/
95dBtUFLVP+3cgocoQOv4WzqiVpE+RIXhzHAIgAtNpSN8SDSQ53NBZ2L6XzAkku+vgL
abgKK1tcQ5fbp/861hOE6QeZbRPgJSPpMCGQTiMksvimbDI+wEdb3opK1rZ/
S2oraGAYRav1ShVzb/
S5gWkr1zMF2o0HhWIpPGBt3dZUi03VK{4lgK9zpKwtRXogm3jtYO9VmtrROf9P53Ma2ler
NRcjGZiFuciNjgaEWpd4ICblw/
ViJQCO3ue+jpw46nw3sG2SNOVIKz6¢cILAxX36QBEGIK ¥F gt TLjBjfZZGo0rs2UyK67Q9uS
30WamS/pUNXgiINWgFEedb5QXsjgEjuXDuZMabKRXS5P3zkxXNjvxfc77ylQQA2qHz/
n8rYsluVFnN43/
wuuK6an4V4lcrH7UaxrowPOyzIZo83hRVX¥iMgig+jzQnmymwKwhVpMRnkh+vHPO70h
sCifTKYA1Fb7k/4AnXeX6x1wWNoxzIsPX4MpNOLi/
6zEhVW3TQYRMHpX93zkdxrzrPOHxtaeSplufRBqgkcAGull8dnWDJoDK90O3jBYBZacj/
fU0XjJ2s3c6jZBEOFgQFAGRaP/
eRYjNKlal1f1js5Rj1QXisZG8yE4O042RP64rKYtyJjFauUMtLO3ILINnUCF7iXxx4DLIGea/
nKOeCHKC5FIr1JvoWbjfqcRORT L5HaUF6Kx6bsNLneKMnaTWcTbJYNI7IwLjnVcdbyO
bgV0eovyyZr4+91+c6hZI5WNKBzIEJu16W9jrE80lAJ3e7IEGChOWBLBYCFZ1QCqylzzt
AYBSFOLQpSP9VmoEmeqhWGogX43FLZmVDVgANFtzztzk1bl2xZjOr9jusek3dWc9D
MZAsvMgf8W2MsQAIwAy4/KIKSFEJVw7wJIDIVNG79e+/+rswJUaRqGlbzg9Bkz/
vre9Qtdy0/
kyxaMOG4sTN#UORZTI8gOb4ZnnXpOmr4q62J1eTAJRONSNmMuZSiiSmPTY780MV870
+pZT1zZWURE2RTXgI3ASIXHZL2vUFXIUSg1IIW/

IWWOE 1kXchOVusxa+8P5iYEIJIZPWfhRE/
WZex@z]¥jxOtFWHXbZLCx2r8t+UydAhliFfYN7ehE/
PX&36tNICxyIGOhToX+W24SpJSR4X3vUO6WZYjbGFK0008i2ZUhFkOyywy2R5WwIqgs
yahoh5JgzDjLEbQySMHCQIWbvnB940blkUYZ4ai3N/
eoZTcZIXLxTI4bRIABOM+9M9JIRWISFuUDOC)YTIQrTorPSVczZfCv7leh4ocLQw4jUDKGZR
IWUsoQIlpsvzZ29Vb0e91vSApFaBuHYEBKY QWRgBJGBEUQGRhAZGEFkYASRgRFE
BkYQGRhBZGAEKYERRAZGEBKYQWRgBJIJGBEUQGRhAZGEFkYASRgRFEBkb8Cyu
/1Y KHIfKAAAAAEIFTKSUQMCCAA==" alt="">

Question: Use constant rule of integration, evaluate <img src="data:image/png;base64,
iIVBORWOKGgoAAAANSUhEUgAAAISBAAABBCAIAAABN42AAAAAGCEIEQVR4n02c0
U8aSRjA+x/



NC7nWXEVTpmnSM0o0akyPXB5vUSTY56FluDNBFBBE84M5bgl1RLIBSQRTR6hGRPLU
ZJKleP5qC51IMazSY8+UB8YJ/

28R4GKp7Uglp3GDLI74nZ602z3Y 3a++WaWK5KsMGjhCvEeMOgH2alJZosmmC2aYL
ZogtmiCWalLJpgtmmC2alK0reJhfCFsGAuPvzzMk45F80PW1r7gsABLJILYZ70K88QX5¢
DQ5JG3IIsc10NyztO20IABRR/
AN8XAOOQRt7XsHEeAMAkdKJIh23P0o3H90rEw9HKKLO1HbKFERIOZ0OiHgCKI2VoLutjT
riFI2Tr42Y4AtIk32dOVAQjZKIRGIALWEfQR+RBQBCFbL2balAKMSKJIIPgQUQcaWwOD
SCINL41tmKuCGI2MKTFuqO7BO/
frogYau42gsRgPx3ayzFaAwStIKhGXAB6PH+T{7+POLKjGzXOASguTd+TL0ozIxCwIQy5
AURAHS3j+/yIGKffnC5PVcmZZVkgLYV2/09sldPU5dE830IV/
ajcd56yOzmFBh2xd3niiKku3M721Y7e7bg0IPb7ttD4fOq54cTbga7iulvglSWIMARGBwage
u8y97+5By6bhho/
9YMILozm61uzYnT7ZDvXTnMy4p0sNqrR22+9RxuzcSOHOoIVNG6VFamYdVgQsEl XcF
MhgTegNo+YLigSXAh4eKD3zxQ+10GUUY/A02eLzZS1gm8rZdQJANEN/
3Y9CSEuezZy2hQuM/
pIKHEN;jZgDdollFkkvPBR5AIzZNTbkqG3AD268WSJCthEQ+AZISRGU/
itAYibehd7X+djWmbL2tV3VY2poUIQHRvOVDPITVs/bPSNUTANCeeveY 7sl/
5KkwEPgylhB9AdFXYqiSil46dSIMm2vHXIZ6PTITfyZalhaNQf82phi2cpJyx9aV/
ulli+a8tMBzPyK/6HOWyY9fDZ40e+5VZ/
sLs7h31fGUa6eR5AI20n3MnMZvR+v+eBc6SdD4z/
Frlv9eldW9eTVK61balM2UAjNacatrCAM7aAZzWPBZyIYZZ6T5XUO1rIVuTi/
Ez2Z8HDThzwoE9P2+QN7JUneNj9EAHPGN5e/4U49jMySVnIdXB3rprBVTBKNCOINQ/
g7hMfogLgrK5KsLAfc3HLh5PPBpalCymb3cQuvdI/Nintg2knoONVRzqv9JeMO/
nf+EJ+GjZ4tFVIUNNJISVHP 18wg+pWWoRpzUQdcxmSaUe6btqqpBjl15w+S5bRJImzIz80
yQmPm6pxi/jFfc2ZdmbKRLcGoaqvRFKO2LZZBO#
9IM5ZMZHwWLQM50tnc3g14luAHM9eCyVMSBJEJUBJ7A69y5dtjdjSuFdvnBY8J70cMEO+e
V8SF/06e2S+8MZpOZixc/
GpzsAfrWwLI94b2taqZQuvjvsfrBQkubwBbvetlO8MZGJaDt0JvM7L5dWxho+KeKgVknoD
ujogZmSIlvDo2+GcOFKI8nsdq3IQkdS SGPFIABEXzibVA22Bso5jUcwhwPg841wERQJIG
ErEgH61yf27mj9iBTOxau5VQWF84IM]F004iLdQhAS7tx60ObEZqW1IBbDOmMTrcgndyK2b
FINV+nfTcc5qu20T7vU77ngXFgrKS/
m9DavdcZ0XegYdnfbZeb8gNCcDiYW|Sfa3vR5116K4gBoPea9xAu9H|TBOL8tH8k5HrvLc
L/
eJciN4A3Wm45hLumeWeSwAFINW3heR7PImrfZ2ugoqlywtZOBQKKUNFWeaPkJAVgN
Ip6tnJLQtObJY zagGdr/
JEPQQOEJE9ANWSEMZNQDVbuMrAjnteCLVs4ZqT6kXrFkMIW+WaE3tH4WKoZAtva7FJ
64KoYwunGCabsYxPQxVb+Ljn96EVNmMIdjEuOIUN/7gzGEwdK{fi3QBtGtqVesPHhBLSs/
WWzeP3ybOPhd4wAnj7EXVC30JYys20QD4X+fXIx3QrA0S2x1vJS5z3ioeLKRmDWPh
8dR7V186LID+dRNGIzBbNMFs0QSzRRPMFkOwWWzTBbNEESOUTzBZNMFsOwWzRB
LNREBWWTTBbNPEVOGR8JtzDIZMAAAAASUVORKSCYIIA" alt="">

Answer: <img src="data:image/png;base64,
IVBORWOKGgoAAAANSUhEUgAAAHBAAAAYCAIAAADG6GZP2AAAENUIEQVR4NO3Y7
0/bRhgH8P5H9yaii8SEYBXSqABtkYg2TUxqT3LVUKLOhBMTTEYIIbFArlgvNEppQ/
JRUsGIibB4/gpZsS1oaNEBtM4gUsJRXeRHxAr/
yy72wsxlIitwAJtPJJ3zfxOY79yeV57nJFVIScy8qVS78DMwirY32zButjfoMG62N9swbrY 3
2zButjfoMG62P9jy6HW?28kt2+06 ThVQA62kP1fcHPz+cL8I+6amMp9PPrzd694P2PhV4
7dfVgasrtYmO0/06GHtj9fSIcNbOIHCzbYPCXbEdASIiseK/
Q7mdNbeHax0QuMMM1TMV3jm8BPri2/t+xgKdbYLO00/6BrKiychCfFawEZYHoxuJBDT/
r7PQRB4AMtZH8j6 QQQAf+ScUZsSRONKL65uJdTVDm/



dNOBrPzKljaaedFJoOvBjayiygVN1omAc25ZGyrEHSSy+qV0SZWVQtBPA4cYKpz/
IQux1Y1MISfnUy6aAsRQr7R3dI5ve501QJ83U8tv+tyVIyaeONSNDCBAIKHyfA+PUwBYI
5ugqrBxOC7TxGeJhDkCXQzqUFTUR8SQNIEbHyfJcmLBB1ht+f+yFXCPggWKrmzNOxDw
Ug1RV5f7K8hHgE7j6dr+06I6j/
10IXRKBVRiofWZ70AYhskV1ZSfY6EDBaxEQAOVUISV5MQ8CcJIhdLw9l5q5DBAZeJi5
KfysmWIEC98KLIU408cgqJGpY90ujnww3VIL/XEzIhVg3rKAPhglZ5bXrbiX900/
ntZf51JfbCPjbSR35/kvXm7U7uGabGez/1+aqtTIDQWgAJEIXGHiy4ga3c//sV/
Lol8ffe3ICX3gX8ppoCfl+2YKZYWAIFT1k7c5miGiezlFnRIAACIbODXGUkecqlTn1tZ8s9L
HrF9fqgPxH9ZKQ98HNGUWWI+NCHAPQH3hZng7z96JLpXPrShAUi4AhO17SyX7j+By
pPs5jKnaHyHG90cQeBgHNG+rDRQpBr6R00pL8BUp/
1G18MtgdfvVX4Qw20bk4j4rz16XduiXx/
903ddg5DIVdI1lk+FmeNrud5rK80+bMaaU7CX915ulrOh1W3FCMVQ+EulRgNrdH1gxkK!
6AKQd00GsrzgRETtyZa0OH5tZjhidnVovaF6lveQpLt12RhVrp68tNhvrimHIhxDOgdTzayta
avk76223LdWCzlir7TbauRX9P105kUngb4MbuQUfbdloefOMIKIOOhOdUTKKKe#+ 2yl FUF
6VIR0OD1RVZY501QJZJILIEMN6VAEVS93s/8+A2JgIMf+a20XTh7LullPV8HfO/
XpxmcXT8+Pd7S0O9h4CwGIgFZYvQixffQwWLU3ZEdPhE2ylsz+U4o0bemEIHCTITygjfutiv
Ai+fG/50y02suT1sEy10D7DtnicTf+orvK3VZ209nl1mv5uMejlPw72xviw95NVolS/21LI/
MZ9YbSFdIIb/al9wzbfIMSbYs3LfQ30P52cRv9iYwh97R8ex/5j) Y TFTLRQs)/
XNGqyP9cO0arl/1zRqsj/XNGqyP9cO0arl/1zRqsj/XNGqgyP9cOarl/1ZRgS)/ XNGagx/
mfkbtfQINc6VOICAAAAASUVORKSCYIIA™ alt="">

Question: Compute the integral function <img src="dataimage/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAGUAAABRCAIAAABE9f8JAAAFPUIEQVR4N0O3b30
8aSRwA8P5H80J6mpiQ5ppLmMgZtDImmxuhFJIUG8RPWXQF2RisBWIHIJ0QSUHXFCpeFT
dcMeJYk8S9TQORUMDLQNNXsxdwgPpA/uOj/
ew+DPe5bzdOAud5PtihoDfj7PfmfkO3uJ4géR/j1vYf4PaCuJFvIiXcoJ4ES/
ipZwgXsSLeCkniBfxghOv4rbeNN7h9moQOxv7iD1zhXuVZphhKlIbielHLRjVwcvpP/
Mkr2es9Q6Mmz3aOF7gi20Y5HBN8ySVASOIEGBVEQj5nK21pD+6mcWeuFK/
cu03rilkU3EyWLg4VU/0GUuuEJAtCedm3QL4HjhcLmnJqiu5d/
f+EO0gdGV3bOhl4Y2U7FjrvTWaTOroPHb139hTx67V3pkEIHBOCrrAXxAByhconwylQneO
gViVIx1PjgHGQRT25DF7FRLEFREjuz2UK5fX8CcN76SzZ230pgNagDdmhY4XuDKGevT4a
61Ivbk8XqVZhgjgGbjb5WiRityWP9D3ajG4WO0bclALpNG6XNyjg4jNYjyGfl2agESIwxtbox
LIprouZzM4DonvotAXdkNeFVnBhFAKKulc/YUGoFr/
J6NOTgdAWs35DJISyxeWVv9iXRd72bziczY AERIJbuPOpya8SI47AhAlerbru9jL52XUUgh
ApFmMQ3gWs7CWXO0iFwU98ztW60PZxR2h9ADg+D8D2IAKS/
S1y5s78GVjw8QQFExuSNAN/ksZIVOOHM4jeS2Ws37AIQAeieLEp7q/
TylwolurdywMBx6VGDETyZnJH4ngrOCrmNACLQ/

+NPOhbHMAMOgEY gJnGSKtOrYzEgIMNJI6Mj6FAF06fIMPRjxdBjpBtrvPzyzKxyu944wbf
bxrwcmrWisr2m81Wz5hlIL1JjXcawDIjlOQhsURAAIIZ3dKwsc/
9ESgODWFzgWPYyWp7WMseb5/
F8hmAtDa+rddh2CFL9hJ3ghB1sxKfIOHL2M1WT1SJoP10zT147W007Bd4geP3h/
rFEfHRtNPVOruld7M7zKleyRADS5DkJ7Q/
1iwBtlgPhvBdwrF+YtpnIRXCpHOs5SZ+Fz6ta7GU4CYkn9steKtfGea/
DgEemjR4eL7mKvcCd7EuoWPXH+JztOPFMJ+ZbR33T6UrAZQTQZt6rcLzA7S41034+
gCWvaltCprzXOTWgQ189j6d5gSvvDwOiFbOULwWVIXS+AWWNSVFULAIX6WRK4csYgXjj
VKklcqdAciGTdNhQ9betNwQ4+5qYd+6GRjJzeYicj3av24BjG9EVZP0020u9Uwa3ruavfkqd
slLrCZAeacWhXgJPWjpO/saCile1 TbOpSWsvkOKI7hjwrm615RXfqUForPV/
csICV5fTM9eHq9q26velL2hI8xJPQveDR9hzgAkv8BSRO/
tslITIRMQcjHp117HaPkzmoz6L2f73Ettf54pViaYFGOfROIZJeTuLOTUIem4HGS32V42S/



4VnzdOpQ9BgcZ3HnpiAvsXnQEb3iuFtihe7C4ceR+gxr1/Eg55cXI6y/
5gtis5jyeC9f3vwRCc8bnttuox8WPpD6FX+pgghAXyAblUB017f7D+2ByqKHBtSEJ48/
Paxe+bXHIKkzsuNzOEDNC1ycXIWDIU6Ty56qcCet0ZZwWTX5DVT4vXsigi5vcsyi4uX58+
XHbDbsAZW6PHJ3MrzHzDv70MHVOWS5Q/hbyMmvbo7IwaufRsvi6bFuT/+YgX8VJOEC/
iRbyUE8SLeBEV5QTXII7ESzIBvIgX8VJIOEC/
IRbyUE8SLeBEV5QTxul78DXL3NXsXGINKAAAAAEIFTKSUQMCCAA=="alt="">
Answer: 165

Question: Determine the under the curve of the function <img src="data:image/png;
base64,
iVBORWOKGgoAAAANSUhEUgAAAHQAAABNCAIAAAD4jdcVAAAHBOIEQVR4n02b3
UBTWRIH/Y/
OTWNSYKJEY4LGIWWT]K4Rs57NbGz5KEcGh1JbSkfahqaljEBtZ6lQ+cama20irsUFIN
QIBAStYTNJ40V]Gi86V30O5F10WQFmMR7cx06CS/g3ba98zTM+/
nN6QMG5RQJIpBOSr+AY S4GrwJWnFLgKXHIKgavAlacUuApceUgBWxIwUyvRXI7nVY14
pesxzuUYImPY9ATt1NQ9RPaeGnI6kpV+kTKFu2ppNzfFOgyb7rPiIAHM/
YLhUzKvGHL1r/

LvoTP9rgRcpU7jL47UQQe50J1huZdIFILox9S XgxIHWI5jIGJbzORDQ*cclX6csdblp3+A
gCr5ZYbIUyAMgfmVsniTQLrjQ/
eCz50ssb7gb7+IWzyCi470Zohek+6y4gnnAt7Vqad8D19G 7KT2Yy8oWbivurMOLm+GuP
3QBMOwt7L8gtznhO3/Z24InIMu75352K9ru/
BTaVXaMp2sn00JjVZ8eEmO1lsRaA3MhCgAEcA03+4EIBmmzulL+wlifcytJfU+veD/
nc2RFndXPHaR2hggiOBSNSkxUbbirmVVUNOOb+cym4%0h9Znq5tFJJ9GagnHnrfoM1vrD
mtHfo4f73NvsYx7LK5DZ3rf536rpXk6MWKhJvpJ3EAJfiLXIJF3N59cwRCAO+KZpidod43
Ba7hv01hHR7YOYaVC4WafY1gRV1BiVSjcuE8NEegKJQW1UplwZ/
gNAKIa79vv+00F7g9gqq9eEAES/
znwV1IAlws1GbOIEONWSFNhQJcLIHa7W0OyJ0Z6sC4Ub83QAIODMZENpPWS5CcHNOFKR
gEjtSggYzal+av3dqls4nymfiN2t1vuH{
993JkZd1bp2ABFoDx6hmywO3RkthgBEmuGPopgrgeYCZ466LUSBuUxSsgQhAoilWrDY
rbyOEHQCIig2PpI3xWDLj8+gBQug9I v5aZAk78yEmMOGHADThxABFr+mJDbEIXvGB155
SLAXTa3ISBC4XtIbS1YSFJzZ3IBRzaOPbOQPZdNZBUx9Di9c016YpiqQ7arRtNZY885i
FS2al571930umyXulx1elMD/
czt6qkz2c8jt+uAfSO083HT40OKRIFL6HOipJGLHQPYMWMGB6AMACJINYKHX]AOIY+H8VNnN
n6ABaz8 CHHMNmMfABIIASNAKS)rf/
tBssIx5SwAIrXzxUhfB4BoIrOgEVyY+fIDoZggMotnc8CX70yTLbWeHNvtaSrHXcdkeCmc4h
uUSQYcKIk3gRb8RPZvgNAHYbF3MMyzGf/
vzNEJzJ7rx@NMVysSnqgsulRAEPXWxMc7myABAIXvgVd40Iq9qlZLbY/
e012tilAreXIHhY/xNtfVa6 TBAKYx1t8Bigi3HWOE6HW/SEVZVE6XX2SLA+/

MdH3RUME 7ukNUmMOLDLa9olloKYyaHMZ6J0dZvLbp09Nad4ekduPcifPhKhSkVRBfpl
Y206t 5e8r5mthMHkwKZW+de3QO0iyy9D34IMkcPPNsDKJZvxjhNcPvzC3IwDNxkwOYd
My h7 GWXuZJdbZu740t59pmHEBOM/Te3klol195/3b6fnTARmMz/
MLKITVY5nh+0bwSGOxc4A1FBLIZYK/GhC82khjBfoOMWONSytfe6obuB/
Nntx22VtLE426InzRkdNmM9vyNNSob1friGed0cUsxySIXGvuqjOaf3KF3H3kKR35i6m7zhU
54PSF8HD5g0Nnb08akKk7Bw+dGOWLXZ1/
AYVYTfMVb+jk70ebPjbflyWcPOdRpXjuQgONXxYggxyRVxmOYb+G/
aQKIrUtKmOUFRTumzstonUabs/TagmyaH+PDbvPScYXL54k7FY6wmr+tQwB260MF+b/
UZaGQcEWbm/HK{J7f+Lx9Pig/kbdrrWMHNY9/
GlaJ8WAITaohUpskXksY0OAeHyhe9BHSMBIZ7V6pCqecB7QD/
IGMDIC99dx+6SL0cbOpO0tHqquzdOr1AOb9jk6VERgTGqyQsLIuxuFDjebaNLI9cGPDMv



FaCtoGZoRgqzTeMowyvcPXyWeTa0fS7hxn7qwh89yTGRABQIINGNY|gITAHbcflIFao7
kITe6QZdh1khAnUREdbsTfDSB+fLbOHQ2QIJdcNGNgS8ItljgMU6eh4Wf7oM7Jq/
ec1CPRksLNbo6PjFgebabYj/
ZOBDBXX8G9xWjrHrjlwa3SWc8fjdglgzvIiJYUbGVBBBCDIW5vUQHSOWig8lb9v5+JIXx
koltxxVUribT65ghoaxecpGAB3I2/
NICu5zy0419rkb7ylG5yCi49HOVkISTTRp832GiL8btA7NSN21khnc/1by5WhDWO/
JAENNp6srdpQDQvJIS+w99RhKgavAlacUuApceUgBg8CVpxS4CIx5SoGrwJWnFLgKX
HIKgavAlacUuApceUqgBg8CVpxS4AupfOplVcY+DnNnBAAAAASUVORKSECYIIA™ alt="">
Answer: 100

Question: If <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAKCAAAAYCAIAAAC231XLAAAGWEIEQVR4n@2a2
08aWRjA+x+dF2I1ISF2NyZqtk3XrN20iU22pxmD01U824EBL1SYLRK00IQ7AREBS*ry1
IpllYOK+rSLe221arBnYbOgWyID/DE4z4MWOiqDCy30JP8XkZnnG/
078z3feeMIShEU0BVXKp4BALIR7DORWTIHESWzKCE63XESM5HBOtSRLDORWTIfOTC
WI+/
cNI3HxivSkmxamlIxVvF4qgpgLYj30a06mJI8NJJuxqw5CIWvqz4iIFVMRIERSIOAUNBN7N
PJIKKjWgTg8ONPIY+garkglpl3XpXRaliPMok4rUMAMwztVTgkKu@iWD8h7GrDCINRG6
x4JKUNGNh69vdx+vD4ZWDLFeZ0YTVaD645bsuUYImfuB3VEOBNWDHXa2NH4zplwO0
OXuxTdXCzqWbJ9264dCJ51zr6hnwA6z0G5BsqiRwCIiGrzvigxRPTTUAbqgY/
XLIcCWH3Wg45mgO5wHzKJIVGsG4DkDnUNEou9vGIONXKRUSAGNIoY UWrgl6xXjyloMA
ahR75x+mn9KL4K0oCNZje70relz+iEWPRBgBIBJJ1TdG&3Z41J+VMFVpftmkBREBKTya
STOLNgBwBIJptb3JdGJIkb018zeZZ2w7+/WmzDLdAREJ4ON5gzrbxdaMQSKYj3oal 4/
5eZwpkWPGg2hAm5RddaZzsP+B8QmaebmbSDKIbUUXApPC448yR5DdNDCKIWAKI8/
7ix3a09X1Dv7zNbG28uNaPfYvOodZnmhvbhV4R10PZIOv10rjS7IkKHNSB1ENarZVJ0Oe+
8htQSXN426bRPmMFoXxBkFKNAsIgeKncKZ4/
5S+RusM7Dias6xHLEPghk5IDWEdX5rHeqib/ZrazkeGnVx50B/
rDabfxm1W3PhENbnuiS5bKetxto0QY pQAcM-+IsLNJI5dr847fDZXVnflIRyMPj4880Z0OxxNc
S9Vighbat5F+mGkT2WJ/

bx9SAljEek8gIimQirjalse2K2n97 UlsP|L+Ic4Es62vWOp6ZIfdOGWION1WAFSLQJIA9sX|
WAT48HPiI0Gzsal5EAN1tKOEMirFIEENUZV1NNmM1N6ANHNmMUhpRjkecJrFkJDoXC9iS
SaxlaswUDtvKBIBaBpRT@EYBhGQO5YrZn3fOK+8s3hOwWNrKsL5AU9/
bQ8t2CkDOw+LxZ085mrTRO1jf8z6dfpWviigUOosvGVS71JS/
rOTGKyKiycYueAFCrzpmyCids6Ecg8220uNoyy/a6vT6fKr5AU+dnoG/
orbysL9spsc4diKyti/aX2Y1C3eBb9pBtUO4OWT4+1mWHOUmMKoFycHdjdXz7meDr27q
kuuJjW12UdCEDjeBjjsKu4RT3unrPiRutleiaxS1JwMvdXLHUQNVtD7Miyyebrse2ylL JH/
a93XgSGRIRIDFYIYKZH1IU/
GEMmMnUp3HB8KkIrRKDbnuPjEMd3PTh7DUMicnY50zocoTnoyMu6rwND4P6EK2Ngn1L
UExzpasl@ygqaprwNDACKR3nuQSKa2VzNqitugAZD8cZmdE/
uPRQhg+sFQ6ZLN+dazcZm/XLntTDVCVDfkZ3/in9ABSLROVM8xRzlaX7Fktbr5pL38M/
yOp30JIBMLUSO05gKhIYr+olxufNilB58jY X3BEmkTwIzbdiCGDUQOrVzZxO+osMdZxLJoM
sshkrMeVSuvbC8rbOpKFVrw14MTzehRbEe21Z0a4m1CINgNyVJIkO6yi2s9efBh9SeS|
KjOLehhQxcCUNMbKPZ7FjuamTBfx8nazt7adrKBcky9Sz9JzIthCHRrruKaW1lpKgoYHuvlI
enZJris4ZOEjhEoF155XMO/3yCREOAIACUI10/
ZfsedROpbBoYutqpvm1b3+CyuOLczTHhzQGqX4z3SaSkWEWP/
XHI+AIUVEuzrehColOeLOf/L6zb6yGqN2+WbaP7/
7Gt6Cgo7+FuvVAKtc42Jg+c5fy05cteBVU70odIrEIGT3XIN08i61uYv6cAWaH3XOSKCqJF
+WcbXjlIOFnV1Wg4zX80MAFrhjWmoKsL6GMItx6ld/
GQLOtIXn3FTqjFZ84M7IH4sxY4gMnteVDymL6vv6IIB6BOtBRLDORWTHESWzKCEG3XES



M5HBOt8BRLDORWTIfESWzKcE63XESM5HBOtSRLDORWTESwzkcE63XESM5H/
guU2Xx808GmTVWAAAABJIRUSErkJgggA=" alt="">, where <b>p = 4</b>, solve the
equation to determine the functional form of the equation.

Answer: Increasing

Question: Solve to identify the nature of the function <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAMSAAAALCAIAAACPHhAj7TAAAHQEIEQVR4n02a30
8a2R7A9z+aF2IwISG1jVnbbJvWXLvZe+PdtKczZg7gse9rhVylUOuswgQsWVLjoDUWKu
1bKzt1ZRW8rewXXxVxo2usqG7zTkH3ggfgw88TjPiAt/
gDOICPSPcnnBQNzvjPnc77ne77jR5xQRiIDk460WR4D4sSEGGIeQFGYaQF2QYQI6QY
Qh5QYYh5AUZhpAXZBhCXpBhCHIpP8PSL0J/
NY7eokZUA7YhptDyeDihzOWTw1+PfmazKTV2/
0126+M5S7SdYQn9IOxwfI8UeD8FMXwy2PqQigHa3hfK5AQ+OmHHgN2y2vK@ZhBtZ9
hLyn6vh3y2WDFs0D3+a8tDWh7Elab5xxOhzCWC5wC84Eu30qQzRNsZVixPIONELtye
RbXkkQjEantL64j8JZW493A0gyrPa6pDOEG1p2EIsZBx1qgdp6pfdlgdTAXx+ds&MDFLn
OtzqSMORbGIZhJURhwHZz730285s/GL6HK4tGO+magx/pAX8/
PNVOISdsSyKMPho7QzO+3ulprVeqtK/
83DUzKYT7GPrxvtXRpCobFf97DLxUau026G5VduwW0aGmG1OKHOMFwOwcyzRtIsX
MH4AsQPgpD11fKbMrUeu6b9xpna516nQelHECAVmMaSMtJqpS5gHdjBn+ObvFc+InfOM
R2N25FfkfdZadVJIvCOQLPCXwqg5IUBIBNCbEnyddrNsKVAJZBEHE9kgznsxjNRCUYUie
C5+9HU24dYygybzDejO7njfpjLMp8T0o9SL7dXNNhr7wull€SmOg0d+ERO2GCQVwWDTI
7nJCMUUGP8ZhB/mDKDVPRP6hDWLANDOV1fJy2 AAXAG/
GJIKIPdINM2GVC7m70ovEU5u3UjeCjZxGfImvFIGsxUieKfjJIVOELgeAlIWb2tr057pi0Ux0
yDSsIR+EGK4NyA9eZyMvMtOYIDoC++19wI0xADsmcplvZRUwwozPrrH4ujWklalvblgc
dbdY3kSa/ld8s9j/ssaAsPv6xcLXD6062hn5vQa6eCw7qdL6Z/
ZXHrnswpDJpABE99hKWigEaGtf6H/HZrg@iRMsHDbKEIAbHvvia7H3guqgxXXYtPK/
9VTA45TNO6AFTZ59kSz06TatftKZIMeQgm4tun/
7N5YIZRG3IxJPIpIJMyw951IRbCrPAOCIUQSs50VypjjFDZPHgI9esxntd+vdDWhN1xkqG
Lgw4hmZ+pH2e69CsHLDiseN3qeZRSti18LMnB0ZM3/

3KcNH11Dfz+JbNrtlY 1KIlyXD3EGCZAMQAXQPTP7uSEMvdqrhfATjpe7dEUJO0ID2hFyfxu
BD0ZUWoPSFGYaqgsePoSLGoSUNBKmMGVRmMNRmMwJPjvwVgDYG9p+0O3ana6xJ01/
8IXW7mBPKXCIDWmyfz768zroUR3L20QKMuvMH/r67sbemeTZInSdjjZ2tgkgxDH/
k3xurUg9RzleVj3x2079RLHANCOc1MnrcEZ7tkSPMvVSROBDVDDIk48h2mgDtt230VYd
QKycy4MwBtRefpS+al RZMWjvOnWKxH65P3p0xiaf/8N3gkxR09/
4bsJUk2zP0OnUa95R%e/B3AEIpWS5fVJ/
41w7dSPAcgNidMPud7KMgbv75nLt67js89Jtx6pjNSNbTN/Uj591IpUgF1u//
b4BRLN6YySMO/HOKKZE/gATdQsgebgFR/UU8bIU9wCK/
w63wdgn¥SAITBquzbxnxNsjm8RI8BMgwRwOjMCZtzl1JaHWg2eDIFI36d/
I0aGeXX8urhGzD+mGMd6aM8XPxi/rLXcxdZjDXKdfmttawHXvGIFpxt9D/Wu9+U/
wikiNRJxbsgs4bSjp+2Xpna2Euo+fjQHc/
AbwWOPJPIsSWSmxvYG9jxn7ndpNc5eZlt+Vg6UMaa9f2konzXjVVb04oRwcIRrYrKQbthTo
BLDbv1GJQCVHEZaP41pCqgbvXZXHB6e9pj1ONmM/HT+ked5SCIHWFYIUCbFRpri36k/
1HEPTPVqyNUdPWEVRKx/bDcUKAFjDeiBU405xLBC4C4MI1pgfDsNKKYMHfpHdepx/
S3EZWwWKEYRBp(giR4+7HrmCGz92jFffbYxdHrQSLO6jH1aY8dE9WsfV+2SXhpChCCsG
aPOVQgY1NofCd36nEYYfePRyXX001SjJMYWAQ6HitYVnGgzKFmWI5/
SLOFw2BDdj+Pp2QWortR6xhnMCn2KmrWpNSZ1ZqSHy2mkTTkUtar3+Lz2UZXG/
ACNNIF7twdCnWAK9JO6HXGW2VQ1IN470/
rMX20mbR8wBIiuMtz8MzV5pSKC4m1laZNVT3EG9beSDMsx3gVoNr9ejXxXC+DJdoo/
My/



HfUyzdrSzjDTDIloMkBgzXgplcaWeSMmFarl+WBgziwOHiLplfuwO0xn7d4btocV51z8vT3E
B8UbffMG9FmMIMMQ80IMQ8gLMgwhL8gwhLwgwxDyggxDyAsyDCEvyDCEvVCDDEPK
CDEPICzIMIS/IMIS8IMMQ8VIHiz256fiBSVYAAAAASUVORKSCYIIA" alt="">, when
<b>z = 4</b>

Answer: Decreasing

Question: Solve equation <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAOMAAAAICAIAAADQ2EIEAAAIeUIEQVR4n0O2a3
08a2R7A9z86L6TRNI257cbENtUYc6972xt7czONRgbrTo+CglgkLD9aVgRcnaB7UVtRW
suyJaK2laa6NTQrxm5vS8PNbCb3gQfSB+ZpHu8D+KulLTOKeOw3+TwZ5/Cdmc/5fr/
nNPMKFyUAOP18VfUIAKAcWFSADsBUgA7AVIAOWFSADsBUgA7AVIAOWFSADsBUg
A7AVIAOWFSADsBUgA7AVIAOWFSADsSBUgA7AVIAOWFSADsBUgA7AVIAOWFSADRS
BUgA7AVIAOzoipg3fcKm3wbrXD2EGY5zyXB/3XTcZzLBfMVj2eEqgkns/
8a9LSyhhoSGN2ufiyyOBOmMZmNtGoJOj6nLwVqs/
8dcls8vtmOi8gxUPyRR40UIzU23a6PA55/
33iTo5I1S06iHJ4QyYKvhtZjVzmkxNRb5IrdfCWOVTa+0P160ekijx8TEVJj@SVEUFn4ylzx
gelbtkORAvampgK/eveR1nyZTd20OLDKs0g93LuapHwosSLzy/
7Rs3XTK8KMUNrAghux9vOyQ5UG6qsKLVeUe3peCpMzXNcf/ Wms2ItshirurBHCT/
vPcmOWeai+erHYkcgDY 1F/JY/x7e4sXKmfpuZYFrZoxqtl/
NWLsTgszL37j6CGIm5irOBPJJIENESuy7ijG2dSmgZmKrPReRU3ea+/SaWIH/
55dG7Jb1Ez/eUaPOqya8ItX8gen2d TthTbW2tTv+mu/g4ERSGO+1B/
k3h7jTwgzl4Mq7bDn93e8kNTroKiTmynjwlRiotkOHtyW®ONWwgZ2+fNXZdLP5tIFOeEV7
04YEZZlaiE+6bxgjcRyO0tPVXx3HhGJ/VESL2gxmjuoMg FiNGj+29kaO0hP6j0rTOWJIFwWW/
TYcwuTS5JfcnaDZ1H5XIgen4dmBgTIRAfGVHIhcX2BRglgmV4o002LeHTGgDqt+ObeTU33)
I
n8VYIIm6zsmFkOQgjGRY2rhccR7cSgyv5199igpu+m+XUZUSI7Ee6amZi9hgnDvd4nSbS
JMKH42IXPkM2Bg6kePv5khCBubnfNz/zuu¥bO3LQRh21BK/
rW5Fy77QL3Zf908UGcKuJ6U1TPIMZWIZIkBXWBEhgmPJopmI9ByMxXoUw8xVRRmMJ
SCZXzSWk/

JStgNRORfINgDKTUOIplp7HBe7D Y2)yXTxj6kH130cg8e89yHMT30v941c1Rkbh6Njk95
Mi7uxy66v+IJ6SYMIwm7tiPRYAEBLI+GCfXZ+r7crPI5yLb2eNpPIgn12LMwim9wtZOBa
WHZR20WOQqYW?7I8ZvAmUvYOH3TM2kF2/02a/YHBdY79CD6A2To9UBUGY/
IDeBKeYwU/eRXWzXEtThtG/I6nMkXrmp2Vgb4xt7LfhtBGEfI5f40nQ5JAIt3POfZ/s/g/
PXjUPfX8he515cz0y8k5%/xgT1zc3fua3CROVeylTOoZdgFvkmsPZKIPj86nfavZqVjo/
VGe7EchKfjV7BBGrHQokJtaKitnenZZuaWwQ6g9dOxnMS/Z6qwou2yD6y/
40XBO0gQNmijg92MO0sqgil+a+myB8Qw3duq+7pv++eU7BSMrNHXjnr85+DwjPPynhqC
+yKooFRvN464pv517Az913V6UOpFhhENL9Jv08nSrJeBdV3K3MiiZahvYmf1B926z9ee00
2FJFnhR4pOhv2BSO7yaST3UWNym+H8Vz59yTcOnWcZmLt7+QVNLLOWUePF57/
fFd7ELEnK3jj9aP6kNqU/
nAMZERQ1DVFO+v7y108QfsU9dnXYiTK6EBV6UeCHWhgn6la5gA6lcQh7dfm/
k8Ju599MZ3W50fnBV8XZ2ysXuO3hPppWQHWFdelT+tHn76/WDYdR16ICH8WBg/
tH3tzJylY/xErezy/NB9S+xOdekqBfkyymAH6I++5/SR6u/
KK3dcSNMOPehBZmBHcXUrSE9QdjjzUg8KGVIARUMLANvVjjDgJO9hNEpUY/
FCSrPYQUwW9ur+T8NoKw03UcX3uUIVM3550wOcfsSMPoESaow3ie9dza3Pu33fpzUs9
gjw9NzWzEiGeczG+Wqgk0sgDBB2DgwIW/
ko5i6pMEE9dyJixJfalKt5vVDJINZfeoPvxxyOJ7foLncrVwyXazFpY Sd424flgWPm7sjhn0d
XoFz7jYDwsy4u9X1MJIFfOmgl6pmO5SVelH6ZdFy/
96fin507S8XV7PjsXpVKTLVaAqOpQtCt23sXa7PNn8yCx8uHpoY800QJ0gSCeYkXpU
zUh4qdvcyju60YmmS1BIJHpMCjx2SUNU4GcFx9TYaKyREITNoRJPfeCF6VULFBNmD



2Jk8Dt+3/TkAbUuRUY sfabldi+IxFJiQOyQW/DV7syfzMZsU1fgKB/
4HdnUI3YDQdjIRuPtWolLwyFhO4vObQwazJib3aE05h+TU5aAam9vvv86IEp//
w2XRIlaxrmtyU29AfqUINJaZaedwXTZ7LrEFViISZVSOpl5kazvd466530XugY+NbmalLD
PhI8r6FaV8Go9co0YahhzTadl37pkadhqrje5692cNzzR2GIsHHI3mLix34+0yJNn6ub9g2
x/BUAIaQx1rOfWppQl/
1jX7Wgh9hvhalLfBoDZ4WnscNxa2K7RyOM|LWOP951njObwbUv/
VmZe8KPFiYX0lojEZazrNdZ36GuldWnp70qepGSF9/
1lpgZuODCOsa4uc3Nw9eyjlgvV8USkOttmilNg54Znik2gekI8ODsr+A+YJQampxEWqai+c
L6wu+WmzURJVVIQLAZ1Fc/
YUZvOPNOQ@473Q2mgGsFNAUQqyxn4QgX41gBTAToAUWEGAFMBOgBTATOAUWEGAF
MBOgBTATOAUWEGAFMBOgBTATOAUWEGAFMBOgBTATOAUWEGAFMBOQBTATI4R
zSUQ7WuUJ1IM5AAAAAEIFTKSUQMCCAA==" alt=""> when <b>x = 4</b>, and desgfribe
the state of the function.

Answer: Stationary

Question: When the first derivative of an economic model is zero or undéiined, the
model is therefore
Answer: Critical

Question: In an economic equation where a single variable igpact the endogenous
variable is called
Answer: a parameter function

Question: Find the partial derivative of the functighfisiimg src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAQQAAAAWCAIAAABIyNPcAAAKIKIEQVR4n0O2b0U
8aWx7H7390Xkhvm5gQW2PiNalxybbZ3skbetGczjdBaenRgrFNQmMBYIFBVX5aKWIiq|
Wsq9VFC3cO+Vg8UsuLa2pbEh4WFDUIP8MTjPgwgwkhHNFG7OcnnRWY4/ubM7/
s7v9/
VHL5L5vIYDKaC707cAgzmFIKFgeRwglWBwWXCAhYHBcICFgcFwgIWBWXCAhXG8ZN7
bzIxMP/5jt+rsgzl/5qTt4UVqfnlegar/
pQIifVbPw1dPL2FNId6xtgrhps7QrVBWswKujgWBjHyprbBAhatZpPbrhblGpzvj1xk75K3D
fSpPHAM/IE2NKEUdJN4g9MRN YpkZosCtxOPv8wnvMICk3C/k4FgYx0rc/30L8pFqOcOK4/
Q4WQ2cFhJAG6USYPpIVQIFANST70mbxBJwmc/

3DFqjrDCon57vCjidyMRIRTY cv30Wbfwvwe CruXj2xN/

Q4ckujmgBwmyNmrglXyce XkCWp463+WQupulBQDEXd9Im7SdI050S7omZIJDDlieM
P2k1fZZAACKZe+NBtOVIY9KUEfsHERO3sTHbdosZ2PimtPHpd/
P45A1S1Tz@z8i3UWMUZzvsblKqvzhjizO2ZI83S/
TomKyLus@viPoyHWVGFmM7AQFIk68PcMpdXwfReyfwX7GnJuQ2SeT2aTE9LIGKT44
YzqhmArlsi34l4ifvail
3WK4i+ZPT600cZNhO610cS7Yslga3NRIZmr6Pehg4HUoXmmls4J05v0qre9vGQsDVu
MuxshL3thnGFpRzX1PvDDLLtkUHUYPtDQMPgFsa6+i4CxLCd2xvSDhMIOXuPlyJm1tX
SUMLETIzBV6Yt57t6GxSUBCLQA4/
aXX430tRGo01b65k8snMzGtCoEQ5VSR9bsH2zXPFjP5ZG5rQIUANJISeEAOEVDt8|E46
3ebG6CeXPmcyG1ZdbQEGozbgkxybOC+5pprcyeXeP4qFufxFZ42xz1WAFEFESINI8q
kpm2P2h8HQ7I8MhcklAJyx4xwr75eYcTm2iACfZ4Q59VtjwySHZ6UUFbW5gVdCzrHnO
KIMDrbWimM7LSVAIA/UCWSVpwMgGQq5v3ZSt2vWIENXY2uOQuGJOou/
gUsg4TuunlkS5G5901dM6yupPLJ3NRTQ8Jbg208IJUTTLVbYZzuR9daaGf3j+BUk2aBzyr
HO+bFUfrqzOfSspbYmG1TDI/xSr/
DSjk6Qz6ZSRVXjEevBFx+6xRGwjsMIGgxb3KulGtuE4CWwaO/



Ep6ENY1QfScg2vgcwggrS5QjAY XtJjh4RANH31tBX5u3DajdFX9KPd1B0s2bCzq9zwNPJ
Z0YOAENCJ3DFNWfrLQ/n56whPukzZP5u/
OB6bmVKJIMAkKrFb2E9zPP9G8n4rmOtDKDTYbodgNnXIB/q1MYMOMUgKhFN3y5b/
AGrWIAgOw4XbyatukRuDs1Xx7Cd403kVaqUP1g80+6RmRqyxWSkuoWau5wpaZtTH
NXr6TrsfX1mtFoatNbZcreZmZusal/
kPJ1QNRs3xTWIfaoFkbK1wEShAH6vVAFCcPrEx91ekkd6ir7mWx2yWi30mWRf1g63+7Jyf
k7G5mfaGdehin7WDpM5S9pLwapm0G+gmtFIFKdW9mH/
tITRMh954QaG971znkzldzeZyOk5Lb4M1VKgho4GJS4hulOhrz9bmXSOXKWtHpaeJSH
3CeMtQCECybfT3SCzZfyPD20qqtAVVIIjUzRMmc75xWNY CowbQUyYRR8q3F0/aD/
kgjYz/
XNrUbcLRABgtH+1k4UV6qqVInYKUfAsMQZaTae284rH3wFwy8bNZ63WhjsJIXC6HEHY
c7tmDSX3/
9vYhwAk2yY2d3LsmoY6PHW+UX50FITYBL1Q2n009iEgH3Gk8slaJqWmrZTM#ed30
WOT+8VUtthzOVJ9clhhJJYdDdBiKSVRmdAdueFhbFPbw9g8Hs/
kk5mImzUSeEGpSxhsvFS5C/E+5euASGJYKmMo9SMAKNY/
2TVpuZzjS2GQgAQOjaXLbjudYF2wM9fd70JuE4BI5nzHjhb3WAEkb3ormltbA6qg4IhADIW
MT7/
8XWI3pFfkBAIOLI+m7H5TsD4DDiIOMvckJTOoLQaSWSZO0etAcH2JM/TAAND2PsfOnNb9
DUBKwLaXGLXqiXZ9bbwSdh1kVIY3V64DBHom1vI9jQRqUcY Ca4IpKzAYP+8+gxUalc
LY++p9uQedjZ+Xf1lpmx6V1bhZh4nkql6OXRg1lU6nS05XScleb8WjiM7T4ZdF/
cvaA23kKST3rfEqVOLIVIcVI9FAOQOGAVPWGHSsVYgaJWBIXTFIZYIEgfa5qVg2Fon2yL
hKVtbl1smtcscr8zQRgUcYi6MOgNSdABsPgp31AGEsO85B1DpR6KyvuUOA0gbR9Zg+
ElbKy8qVAl/
YsQvjgOK75HZrbIN58GbL4rrbdPyi765ZwyEMiSR4dZ0OWHecgahxZOyDSiwdzAdYZgje
LZ4a0sr2yg8KiKNQhDLbIK2ZEqV9/IpBE74umljgV447/5DIrjGQu75/
Qlcnpo7EPACJkiGWThUMH4/
2BgjcRdjaWLZ3xhUEJJIDs8qgbh3tHkkXHBnkWuMhy9rdfp4tGsDk3oAKbmfdbv9OXomd
EeOgMI+XWImwtPJWPcifOUTXIJCLZMWR+myO90jDAKIq203bTdryWVxbWZxWkgA
g+/fv1dW7mloSsAtC040L4z3bNRXOHVIGBtdAkSGamKP/mbtBgRuT83v+ylbzwqd/
ghvpAHuNebYean6SmUgcZgQgJbBDzGtav+eOlvHFwOe8HAIo7BpUF|9MzGtCkmo2W
KTjV1PmlexfDKX9U8yEoLRRU®/BMDXyTJIhpQJ9/9AfzZRX2PfmzZxL6aUgkdJCAC/
d71hrtVIDENc/liL6fg/gpP840AIKA+++yf0Jc3rOTi8MJY/
vksVP3NXaiGkemwigKatupXSB70LgcKDcexjsFnQPd0IheSHPSNFgwPBT6VNS3x4M/
ViSlaemeTyyVzeZVYIUSZKp63iy08udWqbKd111+a+eQk7G/HfWIKFZmjiviCDtINkW/
hnFg/
PKCVix6k7ESynm2nrVbW23eh5VuqoRGdbITrXzVxQPuqgtdL79rE36a0llr+TJT6sdt/
VPAtIN3RS+06pIDLp9elbpNSyVDymkJ75B3P2Xv+InkHjMYg5ly8gs20HZsl+hgDIpW2
NgqgcxLYzaeKdvekKc07XbHIIFdzLsbKwd1KOzraU21yF5adcC+ZhT/
MniCVsy€IgHN5PQHSThLUS5SkYovhD/
EFORSPpGONnacdJqq8SI5xMgCiG4sHRaDszFBvgSd70DLrént7NflpwGkhAdTRECFW
SMDzp8NHOOEsSUENHYPPJItrvMbY XLhOI91btuu41TCoJP7nA69wWYBYyG3SXJvav7ULBf
FtmlIWohN+rYQ8YdKUd+YVDFsjwcUZf2fTq+Q+/
mJjdm2TsPAEVJIhgYk8k+097KP+tZ0253Sa9C0g+i/4xkMJ0ch/Egy+mvnXqVEF5v8I/
JtvDIYDLAWMhgMsDAyGAywMDIYDLAwWMhgMsDAyGAywMDIYDLAwWMhgMsDAyGAy
wMDIYDLAwWMhgMsDAYyGAywMDIYDLAwWMhgMsDAyGAywMDIYDLAwWMhgMsDAYyGA
ywMDIlaD/wEvovmJcPsOFAAAAABJRUSErkJgggA=" alt=""> w.r to p.

Answer: <img src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAKAAAABQCAIAAAARP+IJAAAGXEIEQVR4N02Z7
09aVxjHIx+dN2SzCc3S1jRXTTXGxKbNY ptykmuAacmxF6FFUCAhG6MCExm1oUhtilL



HRvVBXC424EpqC1VJ7G8xNSJaYxfQF59V5uRcXIDbdRFd69ewknldwufne+znnPM85f
CFiwgCYL2RPwGgoTDDIMMGUwWwWRTDhNMOUww5TDBIMMEUwWA4TTDIMMOUwWWZT
DBFMOEOwW5TDDIMMGUwWwWRTDhNMOUww5TDBIMMEUw4TTDIMMOUwwZTDBFMO
EOW5TDDIMMGUC6WE77z2u5yXhmxNamQO7/

w9B9jxVhHziuyHnJY OhSfuo9KVWWPUS8txOnw/
KS12ZXMYpKNuBSQvzLzp+yRREXEvDasN/
fMIORc8Ih5WN36WZQ90h7HSPCGzYAAN/rDOhFLsS61gO33l/
KnImLUQRtEioHZJCb5IAtAdGXmL/
ITVTIGgsnT2F2tezZaluJOQgWRwvwoLXckERMRC4GJCRR+ISHEmMHMDyYF+8X5Q70h
THSTAU2YhLwZk0sZLsSd6n5LHyil5foCh7kj0aKbiYHrYNKrUDp7V60G3h7j8v7H1bXo3f
vdBv7rC6WnvNFyaWV3fqva2wGVdph64+zDWgyXg3FPW3a41K3YBSa+mbP9AAKgQ
G3co+tzvzf2mylob16Kxz6Skmle4DonOTa9K3+bhPCQ2q6JaAiVhMgDTohGMhX39tw
ucztIX3xJKuVBSqOe9P15eeVzX6CINJQOpNC7ni3diKaXn9UDtn6r7ebMx7xn+dpCznM8
8ntmQ32vjBWenzOEEYH/PPBExmZ+0AoiAfnoeEXG/
Gb2JAOCNVN970MkDaBvJ7Ws33T9ouzb3YqVQXLrnUo6l6kiyNqy3mDP7B8%HfUqIOo
KvBEZEUKLV]RTXQ9H61pXsk2Cn4Rf/
s+JKYd1pNeoW5ffaeMGANDU50XXPxbaJiEIOSAQgUtgTBUzE17OdENS4Xj1YkKI/
R+jNv96w6DLzAKJId9rv+QIKLPW4iAK3D2YM/6etHFzIUE8w+ui6/
188gulZiQqVBoNtuk+pTKnjgY4JPetMiJtmY/
ywyKbstfdHFOVH7+SHHN2rTt+FDVOw6BS9WEAH00IzZzw#5@ri0NZ2zTDyu9Ujke/
glVZ1J0W/Tzz/
0eZ9vgWBdvVN7wBzbk9ye34JWolulqViMnb4bubLyrfBjzgo8JBvaEgFM6jX0kt9yjRgAa
ubktobKENPWNGim4UIBQszddwETcSfZoqgVIPdKh8QVLECRVEABQ56NSCImMIM3ALRYV
66k7P7kFoyJilmwmeCOSNHrouTL+whOhc6bH8S2D90gAIPXQs2A2G3QGinYaq72wAF
HpYHIzHhaPMnCYuAERCecy5VIgeApiM7dbkQnmwwFiSikww4AEbgWjOJ/
XKJPedPS+5L0g3ZLrFS/66u4JDPjOa0bgMEUXKEVIQPVIWI/
LIPBD6WjMej2V7uqgAMBIFpu520y8FysXBRYxD85WijuizypYyMSQcwLt7lalWQst5sz+T
da9MUPNZJLaH3P/1Q/
x66zBKZ3mI4KrydaUwXmruHtPBK¥deV|33p1CwUEND+DeXkiYcwOIgMYX3CaVbRLO
BqoXBxwIQPtITIKYM19HQO®@fkl 7feqQDIsVgZPmQb7PebzI0qgpddNIvrimxpfmtD8elD
OIQMOTN48+E9HS7NZqUWEE8goXFgBKaVLObAIibizgqvRQR5AVvM2yMqHzcZ8S9I+NIk
Rc6bGVjoWs9FtpfatOwROIZILAY QRar3/
zO0lthvYLF9dIODrX4nwgYaMVYF1cTSSrArqQUvro+b/
ntxs7QqyNehhtXg8urSxHuhrFJIbfparWw9Ct4Y X3n54VIIMrVZXB7Jd8MSXtqsjl+ZVQNTM
25S8s8tgOmubDu238WO0VJEINNXIZGZq0piblYO3p6VLIrui2D69WY2QfXdYZm3ILu+cA
J620CT4kOXHTI®DICYSo6a4A2bAQE45tv+VDfcvndneuoo/
b3zmTliggV2pgbBZvxHjpDgl79010xWx/
0I+SNRWBESzGgETDDIMMGUwWWRTDhNMOUww5TDBIMMEUwWATTDIMMOUwWZTD
BFMOQEOwWSTDDIMMGUwWWRTDhNMOUwwS5TDBIMMEUWATTDIMMOUwwZTDBFMOE
QwSTRDIMMGUWWRTDhNMOUwwS5TDBIPM30oyP+DwV90poAAAAASUVORKSCYIIA"
alt=">

Question: Determine the second derivative of function, <img src="data:image/png;
base64,
iVBORWOKGgoAAAANSUhEUgAAAIJQAAAAICAIAAADETdelAAAFWEIEQVR4N02Z3
U9azZxjA+x+9N6Rg4s22x0SaaUgTWztTjb4Jy8QivghFQZIAIKFRcNUzsGPMD7CioSWg
pelmXQ2mYGyxngVzFpllZiG98Fydy12gGZ+uAORe8ya/
m3POy3M+fnnO85yHWwzLETDI1rVfAaFkiDyMIflwhsjiDGCIPY4g8jCHyMIblwxgiD20OIPI
wh8jCGyMOY myyPjvn7l1Zuy3zn4LgOkMw56rNrGwwvXsUTu2mOT+lioVIHINIwb8zep9c



KrKFI3IGrSX9PN/+NVF4/4vKIiLwKcDyhRI0zOzTLOd5ZHpyyMFKLbEYE4L/
wpM6NIgFCTgMQ2ZZSHJIPaFApRh/
uvzKPhRSMQQquRBijtIb5SEPU6NhP5JVN1INUKUdtigmESJrLcDFH7yp8ZCw5GFUbTIcew
HJIPYFMpMpr2zigHe6xUIgNfC6V/
JEdCs72UsiPI+5EvG5VunaXI35iNEXtn45n)Z8rlf64kneBhnOYZN20za9pWD4qFe9Qqz5
Q38XChHzzxPNUBkMkeqd483V553FmTLa5jZyV8W8842KlyBy0JtCmG2vF7bUs6aP34
zzS90y+RNM6/
fkIpXAflyroGem7fseEKImhcKpV1kvXNw5IHzoEDmieyugmdMhR73Ip5mPUzkIUtuzZO
1ryTyDCO03Q0XX87z9LBdeMfHgUJf7A51X87L1nPkWpwXqFU/
gQi00mMo6IvHISNICIONOIYTIewwJ6pyyHHIMIT1jslovehN6wAKIQbP1HgJDTALGJfmESJ
uXvgYo09zHDJt1003JHaTZhUiOeeMocuci8410rkfc/oGP+vmFtp/
WnbqWxzx2IWY4J2huhrlk671wCC7rPkcekjijzOF9vI48Z7k95fSmOY XelonNPOMegVKF
g0cO/UqgialHYqVaxrxVBe/J2vb3iErzYLJIFqpc7IDrJFtV/
D2kjazpkk8dFtmn3u5KITgqH6q19eKp4nl/
Non9Z+u7r7NbjMj2cueg9iuxouWHNVIiINNSiPHpvuVUoa7Xvx9nzrgEILARp7rdSv+IZO
RyvgqZ+L3CKLVuDOhX0OUXUQAdES9fGMYU+tOgT6HZ7Srjn5sutb40Q0adhACIUFVV
HGpOX2pGIEOidc6RtHa21QQS+38gdL5XBGqV/
41gGHHOAUbfnU3qnzYgA1I12W9IL2199zKt4biSe8jiHg6bwUVFTN58RYpHKQ8gz/
0Ocsz5jA0126NFR4glcmrVIQANE+IXCiv2SX/
MZIimENAYAZT0bn65dz+VcobylGQWAEOFKMMNTVdAGCI2ZHOGUATPF8IpzO7wGHp/
Q3XkQ5kPHCgGGuUJ5jUgagVvUmbetgVF644DGTV/P4gf
mf2BzDno+DG8yhdEKnk6bN+aH0/A4770D0xWyY Di8lDE/
2S06DtbzY2jQPDsu20YY98zkMtyECytVQpc8SXjQei®@omgzTLMYINoQg1lGv3IzKgCCz
0AVbLtE8qg6dnl/

SOpprjShuXEYdXXi8fivKzUCqQpAxKf2K13wzmxGGY Cau4ghu6PmFrGmc2Hn1zJfd5H
1Tom8UalVWIPVHFTWmMLWMPE9VACoeBYpe8N4+6Ueg/5m7tp/
yFVEdeQmTGgE40Z20dOSogxUiMOalLX/dzvBaqlu/
U3yNEYNDprXR+xFbNACK+PXrtz/EduRJ5TktmOzhtLuPzK5u/
bZMZkU3+Gh9IXQU3eTB94yHyNMIBIwxgiD20IPIwh8jCGyMMYI1g9jiDyMIflwhsjDGCIPY
498jCHyMIblwxgiD20IPIwh8j@GyMMY1g9jiDyMIflwhsjDGCIPY4g8jCHyMIblw5h/
ADZNXKQgYSCisAAAAAEIFTKSUQMCCAA=="alt="">w.rto i

Answer: <img src="dataimage/png;base64,
iVBORWOKGgoAAAANSUNEUgAAAIJCAAABXCAIAAACGFUCaAAAFOEIEQVR4N0O3Z7
08adxzA8f5H94Q0JFEX2qaJbZpINXuwH/
HBes2ZQtaxr4dKAp9R6U28wUBG9ghutitbaMRqs1rbSKa3TBFudbTFOISA+uGTGB9yje7
gHhyO0/zIZwg/
rxk7yfACd8j2d9ue+dJORZwY56J60+AuzwoSKEUBFCgAghVIQQKKIIFSGEIhBCRQIihlo
RQEUKo€CFUhBAqQggVIYSKEEJFCKEIhFARQqgIIVSEECPpCCBUhhloQQkUIoSKEU
BFCgAghV¥IQQKkKIIFSGEIhBCRQihloRQ8dBtxj2j3nPN3V2rVRsDKv4XrYbO06h41EPFi
pSHPeppvHaDI9PUOcDPRNxXd+5forvZxdTSVrY1qcT3R8UKIIWT9Azv3FBE+XmXhdT5
nRY ZEOpP9tm9/
S5X2EahYgYIuM2XwT8iIKKCt+nIDGWFTuBhFVTX8sKSuinlmO9p7rX1wt6f034yM3B+to
alNg9s5mdXbwOChuclaSp0h7ht6+32BzLR5+IRFIJbkSumgOTKSrPuCSOw6Kz7ssBY
0886XmZjZDVKr2aMupgoo7b4lj/AXS29TN1RLeHNn2T3Hfj3cik93PigG0OmMJ409zK0/
AgXrEWI7ZmyglvH6D/
TRRXORCcbgLFJINzgt7g9WIMRGIligKke+9UZw7yUq7yT60eApSKGXjTIMDL/
KiLKyGh7Q01Ymon3gzwW5Wj76RFJEeTcS4HQOO0ffez56r7gfqThYao+0kTSh6QNg50K
d/5LwoK6Kc8fNm60ebYYO0/X20xEI3Lr7dLXbhWsEopbkw30kTHz+/
NvwUDQYyjrlEONjWMmAG6HeLfl25hmGUPR1x0ruNvNMKYrJOUFP9/



ZtKKKccLSSM76nSTnzKHzTOPpulZNwtBKgc2a52h6ftOLYyOE/
RpCGQ2HvmeZeFUNIVtgCIFiOhadvpQSZnS3ipnClbUblebLAL9v7exu7QWEORSZTbY
aaMAyMvc94QFT/cXR+rpWg3P9baXnq7tPV2K/
swOzUdKx9RTK5MfUE6a5vZb249GB50XWjnG69azw0e8L1h8+jh7C/
xdN6TOy8Fd08DYU+ZPO7Ca0EpOnunhWV1/HzBbp40dtSbOupNHU2h19AU/
TzRUiyYYRQtR7x6mug6px/mTbtixZSz02qlvuhrIxRt/
iywtiurYixYR50m6TKXnb8Ljhr341YsWJc38vydylP8x/
+2T0gryZXQRXu0o8A7R8VVMLXIMRHd1WHhVsFmR4va9yybBLy0YGEK130qoz6s3ZfK
ny4F7yrZ5nIinMXROLOY62mMY4ixSzu8ZZea0zxSeruH3vsin7A7JPgOPbirjvLyprfvwBxb
Sft+mswclCQIilFtViwjiz696K6hlqfdIM5D8tpZ/
E7A6Es450TS1NxPeLVWO0JzFSQ8tOKBK2V1s0foYk/
ZQXFIEWXIyWLBzS1txeVxngLNI8K76sOJfitFm5umOwccZHHrMx4dTRgDf2keB5gKQZ
e53Nn/ySuqVxo5uzfPOIRgqn9072+2uvZZyvqIMdJR7RyjKm5z10hv/6Boll/
TmHBNgNDIKY+V50k+zkzRLKkOKEpwcG8t7KTo7a24nlOWGZzaxHguebu60xd ShEplr
AaiietV/
pX84pYjZq34bEOnNnfFmkzvdM3Xgl4g2h7Rf7RowuNecZ2uVJ5b6bpgKemaV+TGSPAX
3D0eK7hxjzPEMT6l04vjJ+fp8fleKS6bIL/
sSfTWOVHM30E7e5Vr6u4928a33N3Yu5SbITAyyOtry5bjew7VgYIlruZhWmEMVLTMx8beqoN
1rU53VX2HqT66eElsrZtYy+hTitémliHbV2YfhPgfwzoqylsjQxxJAysmdbPX2HOhogKf7P
gWuZrybLPwse3eAoBI1mii44fR6XwCg+a/
u+pHtyoAKhGJ9sfH+F2nNtudrjgXggFI99gAghVIQQKKIIESGEIRBCRQihIoRQEUKoCC
FUhBAQQggVIYSKEEJFCKEIhFARQQgIIVSEECpCCBUNMhIOQQKkUIOSKEUBFCgAghVI
QQKkL0X3z3nzFdONpSAAAAAEIFTKSUQMCCAA== "alt="">

Question: A column matrix is also known as matrix
Answer: m by 1<br>

Question: The transpose of matrix <img Src="data:image/png;base64,
iVBORWOKGgoAAAANSUhEUgAAAJQAAABGCAIAAACIgCgnAAAHIOIEQVR4N02c30
8aSRzA+x/Ny8ZgQmLOMO008kzO5dja9B30pc9kG1no618VFUVROCSP1FXEJOhDFH/
XgLAONIie2B9Ziqj3TqiR6J0Zy4¥H4AE883sNiiw0osz/
ktjfJ54XAsjv7mZ39zuz3uz€SZRxBpdyo+BEQREPkgRgIT8UQeSqGyFMxRJI6KIFJUDJIG
nYog8FUPkqRgiT8UQeSgGyFMxRJI6KkSzvONrFcd+5dz5UuiUqirE938SMjO51JP6PNH
NP3QFO3zStDNPx2NaL ¥8/0P57txLYCx5U7mIBdoxt3SjsAKIJOXbyB6ItaTOtrSfrAOWL
RMMa6do6ijbenmiMS/

7AELh4BiKqY 3ig@3lotCxi781Bq3y9F4vDVgMWKYYx17YavB33BIli3KBNOWSu8t9pXy8
kleCOWP|Epti8gFczd7F1+kcslsxj9pAhDV8Kt7ysijaBZARGINdyaCK6eKmdv23WVQo/
1VLIOLL yppeHtmaMivOzvmvSoxroSv2558cUmmm2eeZ+Q2tRVGilAz5sXsAOIALS71J
HXMLZREAC3lk4FugenlQumc09dw1QUP+D77TojxObnnrltS4X/

Lyheacl ZhZOPn2Wkt7UTPDZNGOb9xxmktnc3tllgAhIGOwgLG/
NVOQMRxa+W161TkxYW6JyzotorRI5iI01MP2ZaFE8mMX3UXSuyY9ArRRFXDZEY/
HxaNbY88d7mnGNtU9uxmWoecVIeQ2A4huPXLe67K2mAertZa25YPLTIROph6iJs/
765EndJb8sCAPB2GjbeJOh/5m58STWErmPIEgDzCjo7G/
P6RPHFYOMHaXAtGmEBaB82ggMmMFkKMDgdKbHA31IKB1ePAvPnx5+0u3laoZich/
iIM7J04F9609G4pceS8jv829PZ8qrLIglLppW5e9FYI18yrqSnz7F5xshAj1LkdKbRLO8gKhl
6RLBMsKLuUc0Acg9Cl4dgW8au3rqOS7AYN4ttuOaqgQjAKYIT+eVdQDinWues3P/
snzQCWHBzFXYEx52XXFgHvmalQP8ybtiJK+/dgB7JOWYeR/ptU4w7Er/
QVNS6LHccH19so0hHFLYbKP6eiEC6jz+XRdtdlOzoe7kMAWOf2FZUnto+UluyxAlgANA/
Ec8IsLrntbYAIQOujXbnlrblgIKrgXszHsZuer64azUQinCJ+Nf9x29tQOIqWQLhev1l/Aul/



gyRNC+Ub309mauu9rpru+df6xI80Is2ezIwYAKY ZflatzfCLOuqvTzAp3UyFgoS2m2JnMe
8nmktnM3JgBaMccx7n8sgNtGdi+qi8GHVShciXkzY 1xALIOQM7L4sPb4M99pmqtoY7R
VzGP2/
x7e80sjyWPowOWPg3TWG6VINN1Oxxulwtpk+sQz8VijsWoZrpgzj5bTRXYXmyACaCag
mDxhaD4f4ghyEtbRCEDbKM7sBUveZodOkZs8IR8Jwm52A2MrHHnplValwMOZAJENnP
XmnFTVMXpEnRLOPvVCHKN/
ULRJjdY62+4sgTwmv55gmEQVKL0s6d8jfBkSc8r7 GuKBWK/
b8R5GGdXiLvwwKRp2KIPBVD5KkYheWRaFNJgtODSk4VyDxPSYR5HTtaiP/
4AKS9vTZ5Vu55el0issZG1TQYS1TSO70Z2Q84anCoGIb9CGezk7xt9gNdR2Gg90qrgX/
pBEwWj3+0TTGFOMNRef7/aLiPLS8GEfIXxxw4KQp4z/OEB75icxQy/
kmThg++TOWSQrEFfXlalTWQmjAjAD+DIlav6luLIgTIDSOF5HuaiP568xPI147vpbAWE]
e75Pz6ZzDitFZ94vO76yWb7ILGfCbotGmtQnmKJfV8zjcqgM/
hMBO4Wtk3edOSybHToEOuU3OfGITvKcTNU7vVILeP6ttpsWP2dmJINZdGtuq To#E:+FY t9
ugE8edeRw3J+XxUXs2TmxgwAIgANd91rrH+6u75gDJpy2l4DesYw40OQPFKIESOTZV6
Obc83liXvaKgH+zG6CHNCQKCXLiige6ZP3DZj/taitbCrii T XiilzN2YA/
X7ZBkxm3HGYyc+Mr5R3XXmb+YxpcbnG8dDON9p+3ewvbawe QAQkRMjlzMGvd2nsU
asER8N9hIb/
SSKbK1NelMsDyLYsYe9dbK2CiKTmfV8zfV6ekj5ZcA9rIMIZFpGvEZimxAjhojMIwtwt5C
kKesuQdDfUgwDhn8e8goquEsAtbol7+4jxGKKWUMmMuUCS5EJy8UI62hEaY 35XtILOURA
Bmqvt6EUrJTaJztRDkZWO4urzxFSVRb38ZycosTwO6HFn3WiIMIWI1e10gZWijg5/
DSKpOFFsZu+9rLIWtW4rTsI5BNebl3905ZDaXOFx/
0CnbdFgSwgS5EvISay4NNNBi6XHF16RHVDYFGAOmMBIBNDVmMQq7301HQaNosnRWA|
B3hW1ILhsIOG1BRABNCUHTbTr7s6JeX2S30bhElyNdLZu/
NIu9PxbLfS+zUP2miOK+Uma7097CwFV4IUSfxgFR36ao7kNyCldkzEHyaJ7fmm9tHRt1J
Xc8i7x1QMkadiiDwVQ+SpGCJIPxRB5KoblUzFENneoh8IQMkadiiDwVQ+SpmH8BS/
aJ8PWBKOCAAAAASUVORKSCYIIA" alt="%is transformed to give matrix dimension

Answer: 3 by m

Question: Find the product of the matrices AB<img src="@ @PLUGINFILE@ @/
Picture8.png" alt=""/>
Answer: 65

Question: Find the Tgtal'"alue of Sales (TVS), if Y is row vector of quantities of Biros,
Rulers and Pencilswespectively, and Z is a column vector of the corresponding prices
of the goods.<imgesrc="@@PLUGINFILE@ @/Picture7.png" alt=""/>

Answer: #5229

Questiem=Cramera€™s rule for matrix solution states that
Answer<img src="@ @PLUGINFILE@ @/Picture5.png" alt=""/>

Question: Using the answer to question 33, what is outcome of the matrix below?<img
src="@@PLUGINFILE@ @/Picture2.png" alt=""/>
Answer: -10

Question: If <img src="@@PLUGINFILE@ @/Picturel.png” alt=""/>
Answer: -20



